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Question Number : 1 Question Id : 2752284220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Jat Jatin dance is a popular folk dance from the Indian state of
Options :

1. * West Bengal

2. * Himachal Pradesh

3. #* Assam

4. % Bihar

Question Number : 1 Question Id : 2752284220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



STe-SifeH T HR g &1 UH AT AP T 5|
Options :

1. % Ui &

2. % fgHMEd UaHl

3. % 3 H

4. ¢ f98R

Question Number : 2 Question Id : 2752284221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Puthandu is New Year day festival for the people of Tamil Nadu. It is celebrated in the month of
Options :

1. ¥ April

2. # June

3. #¥ January

4. ¥ December

Question Number : 2 Question Id : 2752284221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qg AfETg & @R & fod U a8 &1 dieR 81 T8 & A H AR ST g |
Options :

1. 30d

2. % 9

3. % S

4. % GO

Question Number : 3 Question Id : 2752284222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021, perishable products will be included in the 'Operation Green Scheme’.



Options :
1. % 18
2.9 22
3. % 24
4, % 29

Question Number : 3 Question Id : 2752284222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 & §oIc § &1 TS YN0 & 3F9R, AR ITE! D1 ' SHTURRH W+ Whia T qnidre fasan simem|
Options :

1. * 18

2.9 22

3. % 24

4. % 29

Question Number : 4 Question Id : 2752284223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Andhra Bank and Corporation Bank of India were merged with in 2021.
Options :

1. % Union Bank of India

2. % Canara Bank

3. % Indian Bank

4. ¥ Punjab National Bank

Question Number : 4 Question Id : 2752284223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 T 38T o 3R BIARRA db 3H1th SfSaT P ¥ faera o= fear
Options :

1. ¢ gHg 9% 3T gfean




2. % RSB
3. % 3fSTTdP

R EN A
4. # UJd AR db

Question Number : 5 Question Id : 2752284224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following vitamins is also known as ‘Folic Acid’?
Options :

1. % B3

2. % BI2

3. % B7

4. ¥ B9

Question Number : 5 Question Id : 2752284224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I & 91 faefiq wifte s & w0 § ot ST ST 82
Options :

1. % B3

2. % BI12

3. % B7

4. ¥ B9

Question Number : 6 Question Id : 2752284225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following animal kingdoms is also known as ‘comb jellies’?
Options :

1. ¥ Ctenophora

2. % Platyhelminthes



3. # Aschelminthes
4. % Annelida

Question Number : 6 Question Id : 2752284225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead # 3 forg uroft sr1d ) <bea-Mefiforar @m-Sedty & 7 o S S g?
Options :

1. ¢ SHBRI

2. % WA

3. % WhartRia

4. % TAIferST

Question Number : 7 Question Id : 2752284226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bangladesh does NOT share it's boundary with which of the following states?
Options :

1. # Assam

2. % Tripura

3. % West Bengal

4. % Sikkim

Question Number : 7 Question Id : 2752284226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sieey fFRufafad § 3 f5a Isg & a1y 3o e aren 98 a1 g2

Options :
1. % 39H
2. % iaQQI

3. % gigH da




4. ¢ RifawH

Question Number : 8 Question Id : 2752284227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bosphorus Strait joins and Sea of Marmara.
Options :

1. % Red Sea

2. ¥ Black Sea

3. % Caspian Sea

4. % Mediterranean Sea

Question Number : 8 Question Id : 2752284227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS A 3R ARART IR &1 Sedl 8|
Options :

1. % Al IR

2. % DIAT IR

3. % BT AR

4. % HHH YR

Question Number : 9 Question Id : 2752284228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Champaran Satyagraha of 1917 was a farmer's uprising that took place in
Options :

1. # Mabharashtra

2. % West Bengal

3. % Bihar

4. % QOdisha



Question Number : 9 Question Id : 2752284228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1917 T IR AU U fobr fagalg o1, st EREIRI
Options :

1. % HERIY

2. ® UigH ST

3. ¢ fogR

4. % 3fifszm

Question Number : 10 Question Id : 2752284229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was known as the 'Tiger of Mysore'?
Options :

1. # Haidar Ali

2. % Tipu Sultan

3. % Adi Yaduraya Wodeyar

4. % Rani Channamma

Question Number : 10 Question Id : 2752284229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ford TR 1 TR & AT I ST ST UT?
Options :

1. % g il

2. ¢ Y e

3. % 3¢ TG ArSTR

4. % 1 <



Question Number : 11 Question Id : 2752284230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did Alivardi Khan, the Nawab of Bengal, died?
Options :

1. # 1763

2. % 1761

3. % 1752

4, ¥ 1756

Question Number : 11 Question Id : 2752284230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S & 419, Sfcfiac W &1 Jo Hd g8 A
Options :

1. % 1763

2. % 1761

3. % 1752

4. % 1756

Question Number : 12 Question Id : 2752284231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Sunny Days' is an autobiography of which of the following person?
Options :

1. ¥ Sunil Gavaskar

2. ® Mahendra Singh Dhoni

3. % Kapil Dev

4. % Virat Kohli

Question Number : 12 Question Id : 2752284231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o sor Fafefed o 9 fory safdd o st 2
Options :

1. ¢ G MR

2. % Hgg g Uil

3. % HUd

4. % foRIC Plgel!

Question Number : 13 Question Id : 2752284232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the 'Best Music Album' in the Filmfare Award 20217?
Options :

1. # A.R.Rahman

2. # Shankar Ehsaan Loy

3. ¢ Pritam

4. # Sonu Nigam

Question Number : 13 Question Id : 2752284232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 forem ThehR TRBR 2021 T d9S WTid Tead' Sidm
Options :

1. % W3R, YgHH

2. % YRR TgHH Al

3. ¢ UidH

4. % gr{ g

Question Number : 14 Question Id : 2752284233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following states decided to launch 'Oxi-van' in June 2021?
Options :

1. # Rajasthan

2. % Assam

3. ¥ Haryana

4. % Gujarat

Question Number : 14 Question Id : 2752284233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad & 9 fora I A 51 2021 # r3ifeit-a yafia &+ &1 Aol feram
Options :

1. % ST

2. % 3H

3. ¢ giamm

4, % TGRId

Question Number : 15 Question Id : 2752284234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India and signed Memorandum of Understanding (MoU) on cooperation on domestic worker recruitment on June 10, 2021.
Options :

1. % Saudi Arabia

2. # Iraq

3. # Iran

4. ¥ Kuwait

Question Number : 15 Question Id : 2752284234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 3R 10 §H, 2021 P IR BIFATR Yl TR TGN TR JHSIT J10- TR gEIer fawu|

Options :



1. % I3l 3RT
2. % WP
3. % |WH
4. $ad

Question Number : 16 Question Id : 2752284235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has partnered with Telangana government to lead “Medicines from the Sky” project in June 2021.
Options :
1. ¥ Flipkart
2. % Amazon
3. % Google

4. % Reliance

Question Number : 16 Question Id : 2752284235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A5 2021 H “AFSRIT 110 & W13 URAISHT BT A B & oIt AT ISR & W1 Ul &1 7 |
Options :
1. ¢ foauare
2. % QAT
3. ® 1[I
4, % ey

Question Number : 17 Question Id : 2752284236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first Interim National Government was constituted on 2nd September, 1946. It was led by
Options :

1. # Mahatma Gandhi



2. # Lala Lajpat Rai
3. % Bal Gangadhar Tilak
4. ¥ Jawaharlal Nehru

Question Number : 17 Question Id : 2752284236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugel SIaRH AP THR 2 RydaR, 1946 B M3d B 71 2| 3HBT A A faar
Options :

1. % [T i

2. % QA1 Arogd I

3. % 9 TMER forcd

4, ¢ TATERAd 8%

Question Number : 18 Question Id : 2752284237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Part of the Indian Constitution deals with Elections.
Options :

1. ¥ XV

2. % X1V

3. % XIX

4, % XX

Question Number : 18 Question Id : 2752284237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TG BT HFT gmal 4 9efia B
Options :

1. ¥ XV

2. % X1V



3. ¥ XIX
4. % XX

Question Number : 19 Question Id : 2752284238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following holds the record of most fours in the One Day Internationals (ODI)?
Options :

1. # Virender Sechwag

2. # Virat Kohli

3. # Ricky Ponting

4. ¥ Sachin Tendulkar

Question Number : 19 Question Id : 2752284238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad 3 3 R Tt Rawia sirfgia & waffe 9 am o Rats &
Options :

1. % R Hgar

2. % foRTe it

3. % Rt Tifce

4. ¢ G dgadh

Question Number : 20 Question Id : 2752284239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Men's Singles in the Serbia Open 2021?
Options :

1. ¥ Matteo Berrettini

2. % Aslan Karatsev

3. # Andreas Seppi



4. % Benoit Paire

Question Number : 20 Question Id : 2752284239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 forem afear siiue 2021 T 929 Tad Siidm
Options :

1. ¢ HIC3 kel

2. % SR BT

3. ® ufeary qudi

4. % §IgC URR

General Ability
Group Number : 2
Group Id : 275228140
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability
Section Id : 275228230
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228274
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752284240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term.

R Q L

S P M

T ? N

Options :
1.¥0
2. % R
3.V
4. % W

Question Number : 21 Question Id : 2752284240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e 9 A1 HT

R Q L

S P M

T ? N

Options :
1.¥ 0
2. % R
3.2V
4. %= W

Question Number : 22 Question Id : 2752284241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series.

Cy cycyz
Options :

1. % czcze
2. ® zccze
3. # cczee

4. % czczz

Question Number : 22 Question Id : 2752284241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad gRae &1 R A |

Cy cycyz
Options :



1. ¥ czczc
2. ® zceze
3. # cczee

4. % czczz

Question Number : 23 Question Id : 2752284242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Rectangle
2. % Rhombus
3. % Trapezium
4. ¥ Cuboid

Question Number : 23 Question Id : 2752284242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & T [y dRid & 90 § | 8TalD, Th [dwed o1 o9 &1 dve T8l o | 39 [Aeed &1 9= &< off 3 ¥ 3T 5|
Options :

1. % 3d

2. % gHAGYS

3. ® JHAW

4. ¥ Yq1Y

Question Number : 24 Question Id : 2752284243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, select the word which CANNOT be formed using the letters of the word.

RECOGNITION



Options :

1. # IGNITE
2. ¥ NATION
3. ¥ CORE
4. ¥ TONER

Question Number : 24 Question Id : 2752284243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7Y fdshedl § ¥ 98 Xsc BT I I Sl faU T Teg o 3H&RI DT YA DHRob -Tg1 ST Sl JobdT|

RECOGNITION
Options :

1. # IGNITE

2. ¥ NATION
3. % CORE

4. ¥ TONER

Question Number : 25 Question Id : 2752284244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Whale : Mammal :: Rat : ?
Options :

1. % Reptile

2. % Rodent

3. % Mollusca

4. % Nocturnal

Question Number : 25 Question Id : 2752284244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fadred &1 999 B S R Ue J I UHR ¥ Ja&fd § oy UoHR ¥ k1 Ue Ugd Ue § Safd 7
%ﬂ:iﬂ:{?ﬂﬂ::ﬂg{:?

Options :

1. % WYY
2. Hddb
3. ® HIahl
4. % MR

Question Number : 26 Question Id : 2752284245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

CLOCK : 44 :: TRUMPET : ?
Options :
1. % 102
2. % 121
3. % 111
4. 113

Question Number : 26 Question Id : 2752284245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 9ot &1 999 B S el Ue I I UHR ¥ a&fd g o UHR ¥ gkl UE Ugd U & Hafdd g

CLOCK : 44 :: TRUMPET : ?
Options :
1. % 102
2. % 121
3. % 111
4.9 113



Question Number : 27 Question Id : 2752284246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘eraser’ is ‘scale’, ‘scale’ is ‘sharpener’, ‘sharpener’ is ‘pin’, ‘pin’ is ‘bag’ and ‘bag’ is ‘pencil’. What is used to erase something?
Options :

1. ¥ scale

2. # pencil

3. % eraser

4. % pen

Question Number : 27 Question Id : 2752284246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ%‘ws’ e g, el YMUR 5, YUR U 7, U o1 g 3R o Uy 1 foaddl et ol five o foru forarest vt fasa Sirern
9

Options :

1. ¢ &hd

2. % URYA

3. ¥ Ydsg

4, % HcH

Question Number : 28 Question Id : 2752284247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'pul hir fin' means good sweet mango, 'tie dip sig' means beautiful white lily, 'sig to fin' means lily and mango. What is
the code for 'and'?

Options :
1. % pul
2.¥ to
3. % fin
4. % gig



Question Number : 28 Question Id : 2752284247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Afgd Pie U H, 'pul hir fin' PI 3 g good sweet mango 'tie dip sig' T 3 o § beautiful white lily'sig to fin' o[ 3{ g lily and mango'and'
& fu pls /52

Options :

1. ® pul

2.¥ to

3. % fin

4. # sig

Question Number : 29 Question Id : 2752284248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lalu is the father of Neela and Pankaj. Pankaj is the son of Lalu, Neela is not the son of Lalu. How is Neela related to Lalu?
Options :

1. ¥ Daughter

2. * Mother

3. * Son

4. % Sister

Question Number : 29 Question Id : 2752284248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, < 3R Uehot &1 T § | Uobt, el b1 G ©, 1efl, AIel T O -Tel & | <Fia, o] & ) Jeiferd 82

Options :
1. ¢ Tl
2. % HIdl
3. UF

4, % do



Question Number : 30 Question Id : 2752284249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Naman is taller than Pulkit but not as tall as Mahesh. Rita is taller than Naren but not as tall as Pulkit. Who is the tallest among them?
Options :

1. ¥ Mahesh

2. % Pulkit

3. * Naren

4. % Naman

Question Number : 30 Question Id : 2752284249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, Qafdhd ¥ TaT § Qifdh o foTa=1 @il -Ta1 & | a1, IR 9 dall § A1 gafdhd foraet dall Tal g1 SH o Gad 0 HIF 62
Options :

1. ¥ HgW

2. % gdfdd

3. % TH

4, % “qH4

Question Number : 31 Question Id : 2752284250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement [: Some pears are mangoes.
Statement I1: Some mangoes are apples.

Conclusion I: Some pears are apples.
Conclusion II: No pears are apples.

Options :

1. * Only conclusion I follows



2. % Only conclusion II follows
3. ¥ Both conclusion I and II follow

4. « Either conclusion I or II follows

Question Number : 31 Question Id : 2752284250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy o, g1 By feu U B, s a1g &l Fsh 1 87 11 3T T § | 3Tues! 371 Sl & I |FAT 8, Ul B I8 Had: J1d a2 9 7 vl
gl 3{TT! 0 BT 6 b faU T feepsl & § ®1F 91 oy, afe ®is 81 df fou T S § 9 R0 dxal g |

HYF [ $S RN S R
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Options :

1. % had (IspY | TERU HRAT ®

2. % I DY [1 STV BT §

3. % s 1 3R 11 G SERUI B ©

4. 1A SRS 197 11 3FTHROT Rl §

Question Number : 32 Question Id : 2752284251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, there are two statements given, labelled as Assertion (A) and Reason (R). You have to choose the correct alternative from the
given options.

Assertion (A): River Narmada flows westward.

Reason (R): Narmada drains into the Bay of Bengal.

Options :

1. #® Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. ¥ A is true but R is false.



4. % A is false but R is true.

Question Number : 32 Question Id : 2752284251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g&rﬁ,a‘rm:r%qw%ﬁr%&rf‘wmm)aﬁ?W(R)%Wﬁmﬁamw% 3! fou T faswredl # 3 Uet faded o7 T AT
|

HTUFYT (A): THaT 7! UfdH & 3R T8l ¢
HRUT (R): THT ST P Wrat § et ]

Options :

. % ARRIAIIIE 3R R, A I Je! AT 5|

2. % A 3MRREHIII g AP R, A DI Tg! AT T8l 8
3. ¢ A QI g PR TT B

4. % A TI B AMBTR II B

Question Number : 33 Question Id : 2752284252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 28
2. % 65
3.4 216
4. % 126

Question Number : 33 Question Id : 2752284252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Rimegl # @ & T Rfyd % T U= &1 g1, U faoed 3/ diF ot ke 181 o | 39 faped &1 T 3 ol 3 F 3T g



Options :
1. % 28
2. % 65
3.¥ 216
4. % 126

Question Number : 34 Question Id : 2752284253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

15 20
=
3 S 20

51 65 ?

Options :
1. % 12
2. % 5]
3. % 56
4.9 120

Question Number : 34 Question Id : 2752284253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



eod HEAT A1 cong

15 20
4 S
3 5 20

51 65 7

Options :
1. % 12
2. % 51
3. % 56
4. v 120

Question Number : 35 Question Id : 2752284254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows Officers who are Corrupt, Married and Poets. Which number represents unmarried

Officers who are not corrupt but are Poets?

— Corrupt

==
=i
(=]

Married—

— Poet




3.8
4. %9

Question Number : 35 Question Id : 2752284254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear 7/ar 3 3T 37 FFE Fr e § S o, fRafeT ik F § i & e e
Aot & gfafafaa wdr § 3 g 7387 & afea &7 872

R | 1

2/ 3
POSPOR

Options :
1. %2
2. % 7
3.8
4. %9

Question Number : 36 Question Id : 2752284255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many maximum number of squares are there in the given question figure?

Options :
1. % 13
2.¥ 16
3.% 19
4. % 20

Question Number : 36 Question Id : 2752284255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

&1 IZ YA HTHIq H Fe T HUSHaH FEAT hdelr g2

Options :
1. % 13
2.9 16
3.% 19
4. % 20



Question Number : 37 Question Id : 2752284256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

P 1 &0 | Bl |

Options :
] ®

VY
2. ®

0%
3. ¢




Question Number : 37 Question Id : 2752284256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faf@a & & #la d@ 3o o 9o smpfa & g@er FF [ FEr 82

PO 1 &0 | B | 7

Options :
7O
i
e
1. %
A4
VY
2. %

3.¢



Question Number : 38 Question Id : 2752284257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

O * il -
O Fa ? 5 C
+ o =+ 5
Options :
O
S
A
1. %
O
A
2.9
O
+
A
3. %




Question Number : 38 Question Id : 2752284257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faf@a & & #la d@ 3o o 9o smpfa & g@er FF [ FEr 82

O + N
] Fal ? 5 c
+ o + 5
Options :
O
S
A
1. #
O
A
2.¥




O
+
Fal
3. %
S
+
A
4. %

Question Number : 39 Question Id : 2752284258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :




3. ¢

Question Number : 39 Question Id : 2752284258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& 1% 3caR WAl H ¥, 37 WFE # Tua w1 Hed g wgfy Rdvatata d

Options :

1. ®

3. ¢



4. %

Question Number : 40 Question Id : 2752284259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the options is the right water image of the given figure?

ab45CD67

Options :

apteCDe\N

gpteCDel

2.¢¥

sPyY2 C D9\




gspvy2CDe7

Question Number : 40 Question Id : 2752284259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 @ FiA T e & T HIGA B W S o 77
ab45CDGO67

Options :

apteCDe\N

SpteCDeEA

2.¥

sPY2C D9\




spy2CDe7
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Question Number : 41 Question Id : 2752284260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I£38709/3.3 = 11730, then what will be 387.09/0.33?
Options :

1. % 117.3

2. % 11730

3.9 1173

4. % 1173000

Question Number : 41 Question Id : 2752284260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 38709/3.3 = 11730 §, ¥ 387.09/0.33 &I GRTI?
Options :

1. % 117.3

2. % 11730

3.9 1173

4. % 1173000

Question Number : 42 Question Id : 2752284261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest number of 8 digits that is divisible by 5, 25, 30 and 40 is:
Options :

1. ¥ 99999600

2. % 9999999

3. % 99999000

4. % 99998400

Question Number : 42 Question Id : 2752284261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

5,25, 30 3R 40 Y faHTT 8 3P T ISt BT 3
Options :

1. ¥ 99999600

2. % 9999999

3. % 99999000

4. % 99998400

Question Number : 43 Question Id : 2752284262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A discount of 25% on a article is same as the discount of 20% on second article. What is the lowest possible sum of the mark prices of the two
articles?

Options :
1. % Rs. 5
2. % Rs. 9
3. % Rs. 4
4. % Rs. 10

Question Number : 43 Question Id : 2752284262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T TR 25% B! B QT aXg W 20% 1 Fc & YA g | & I3 & 3iford Yeg BT a4 THd TRT &1 82
Options :

1. #¥.5

2.¥9%.9

3. %% .4

4. % ¥ 10

Question Number : 44 Question Id : 2752284263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What percentage of numbers between 1 to 50 have 5 in the units place?
Options :
1. % 5%
2. % 10%
3. % 15%
4. % 20%

Question Number : 44 Question Id : 2752284263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 9 50 & o @1 fba! Ufa=Td SB1sf § Shls & RIM W 5 57
Options :

1. ® 5%

2.9 10%

3. % 15%

4. % 20%

Question Number : 45 Question Id : 2752284264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a village increased from 50000 to 75000 in 15 years. What is the annual increase in the population?
Options :

1. % 50%

2. % 3.33%

3. % 66.67%

4. % 5%

Question Number : 45 Question Id : 2752284264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7119 P SFEAT 15 81 H 50000 T FGHR 75000 BT T3 | ST | aTfi¥ies gf: fpa-t 82

Options :




1. #® 50%
2. ¥ 333%
3. ® 66.67%
4. % 5%

Question Number : 46 Question Id : 2752284265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A’ buys a second hand cycle at Rs. 1200 and spends 150 in it's repair. If he sells the cycle at 1550, what will be his gain percentage?
Options :

1. % 29.17%

2. % 31%

3. ¥ 14.81%

4. % 25%

Question Number : 46 Question Id : 2752284265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A%, 1200 H A5 S 8 Tfhd Wiledl g 3R 396! IRWd H 150 T Hdl o | Ufe 98 ASfHd &Y 1550 TR 99dl &, df ITHT arH Ufawrd
TR

Options :

1. % 29.17%

2. % 31%

3. ¢ 14.81%

4. % 259

Question Number : 47 Question Id : 2752284266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The profit percentage is same as the loss percentage when the article is sold at Rs. 1800 and Rs. 1500 respectively. At what price should the
article be sold to get a profit of 20%?

Options :



1. # Rs. 1650
2. % Rs. 1750
3. # Rs. 1800
4. % Rs. 1980

Question Number : 47 Question Id : 2752284266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTF g &1 U 1800 TUT 3R 1500 FUYT TR ST I § af @1y UT=Id 811 U= & TH 811 § | 20% BT AT T B o forg avg Bl
foh s Hed UR &1 ST =g e?

Options :
1. # 1650 ¥UU
2. % 1750%UU¢

3. % 1800 ®UU
4. % 1980 >UU

Question Number : 48 Question Id : 2752284267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The fifth proportional to 5, 10, 15, 20 is:
Options :

1. * 35

2. % 1

3. % 30

4.+ 25

Question Number : 48 Question Id : 2752284267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5, 10, 15, 20 T Uf<al AU &
Options :



1. #® 35
2. %1
3. % 30
4.9 25

Question Number : 49 Question Id : 2752284268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The seats of maths, biology, history are in the ratio of 2 : 3 : 1. The seats are increased by 20%, 30%, 40% respectively. What is the new ratio?
Options :

1.¥24:39: 14

2. % 14:24:39

3. % 24:36:48

4, % 36:24:48

Question Number : 49 Question Id : 2752284268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0T, Sfia fag, S BT A 22 3 ¢ 1 & 3T B &1 el B HHRT: 20%, 30%, 40% HI i B TS g | 741 S0 1 52
Options :

1.¥24:39: 14

2. % 14:24:39

3. % 24:36:48

4, % 36:24:48

Question Number : 50 Question Id : 2752284269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the simple interest and compound interest is Rs. 180. The duration is 3 years and the interest percentage is 10%. What is
the principle amount?

Options :
1. % Rs. 210.55



2. #® Rs. 543.8
3. ¥ Rs. 174.59
4. ¥ Rs. 5806.45

Question Number : 50 Question Id : 2752284269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST 3R Aeh gl STl & aid T 3R 180 TUU & | ARy 3 98 g 3R ST Uf=Id 10% g | Gl A 7 82
Options :

1. # 210.55%4U

2. % 543.8%UUJ

3. % 174.59 %4UUQ

4. ¥ 5806.45 24U

Question Number : 51 Question Id : 2752284270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a 50% increase in the sum of money after 5 years at compound interest. 12,000 is the principle amount. What should be the simple
interest rate so that the capital is same but at the duration of 4 years?

Options :
1. % 25%
2. % 6.25%
3.9 12.50%
4. % 50%

Question Number : 51 Question Id : 2752284270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thgia ST IR 5 T8 & §G YRIRT H 50% B gf 8t &1 12,000 T MY & | TR SATS &2 T 811 TS <Tih Yoil THH 8 fobeg 4
ay &1 3rafe H gl

Options :

1. % 25%




2. % 6.25%
3. ¥ 12.50%
4. % 50%

Question Number : 52 Question Id : 2752284271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘X walks a 1 km long street in 10 minutes. What is the speed of ‘X’ in meter per minute?
Options :

1. % 100

2. %10

3. % 1000

4. % 6

Question Number : 52 Question Id : 2752284271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 10 e § 1 km el TS T g1 Hiex ufd fime & <x° &) 1fad Far 82
Options :

1. ¥ 100

2.% 10

3. # 1000

4. % 6

Question Number : 53 Question Id : 2752284272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘X’ rides a cycle for 5 minutes and covers 1.5 Kms. After that he walks for 10 more minutes at a speed of 12 Km/h. What is the average speed of
B in Km/h?

Options :
1. ® 8.5
2.% 7



3.¥ 14
4. = 21

Question Number : 53 Question Id : 2752284272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X’ 5 fire & foTe Trgford Iamar 8 8iR 1.5 Kms &1 g1 00 1 ¢ | 3P 916 98 12 Km/h B 11 ¥ 10 e 3R Iad1 81 Knvh H B &1
3Nga I A2

Options :

1. % 85

2. % 7

3.¢ 14

4. % 2]

Question Number : 54 Question Id : 2752284273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A’ 1s 20% more efficient than ‘B’. How long will ‘A’ take to complete the work If ‘B’ takes 48 days to complete the work?
Options :

1. ® 20 days

2. ¥ 40 days

3. % 30 days

4. % 10 days

Question Number : 54 Question Id : 2752284273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A, ‘B’ F 20% YD PRA G| ‘A’ BT B R HRA H a1 T T ARG B> B B R H=A | 48 fod a7 82
Options :

1. % 20 feH

2. ¢ 40 f&A

3. % 30 faA




4. % 10faT

Question Number : 55 Question Id : 2752284274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A’, ‘B’ can do the work in 10 and 20 days respectively. If ‘B’ is assisted by ‘A’ in every 2nd day, how many days will they take to complete the
work?

Options :

1. # 5 days
2. ¥ 10 days
3. % 15 days
4. ¥ 20 days

Question Number : 55 Question Id : 2752284274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A, ‘B’ AT 10 3R 20 f& H S a% Tohd & | A @ X e 7 <A’ GRT B &1 WgIdl &1 St 7, Al B DI IR AR H 35 [
[CEASUUK

Options :

1. % 5

2. ¢ 10 f&A

3. % 15feq

4. % 20 f&H

Question Number : 56 Question Id : 2752284275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylinder of 4 cm diameter and 9 cm height is moulded into a sphere. What will be the radius of the sphere?
Options :

1. % 9cm

2. % 6cm

3. 3cm



4. % 12 cm

Question Number : 56 Question Id : 2752284275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 cm N 3R 9 cm $dTs & U S DI Tl | Gl 1 8 | 7Tl b1 FBroan o gt
Options :

1. * 9cm

2. % 6cm

3.% 3cm

4. % 12 cm

Question Number : 57 Question Id : 2752284276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wall 70 cm thick is built with 3 meter height and 10 meter long. How many bricks will be required to build this wall if the length-width-height
of the brick is 25 cm-15 cm-10 cm?

Options :

1. ® 56

2. % 560

3. % 5600
4. % 560000

Question Number : 57 Question Id : 2752284276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 cm HIE! U AR 3 Hex $aTs 1R 10 Hiex dall 9915 715 ¢ | 59 AR &1 §9H & o el S BT SHTa=ADHal 511 A1G 3¢ DI ddls-
Eﬁ?ﬂé-m 25 cm-15 cm-10 cm %?

Options :

1. ® 56

2. % 560

3.9 5600



4. % 560000

Question Number : 58 Question Id : 2752284277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart shows the departmental budgeting of a company. The budget for Human Resources is Rs. 3 lakhs then
what will be the total budget of the company (in Rs lakhs)?

Budget Amount (in %)

Options :

1. # Rs. 30 lakhs
2. # Rs. 10 lakhs
3. ¥ Rs. 15 lakhs
4. #® Rs. 20 lakhs

Question Number : 58 Question Id : 2752284277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Os AE F9A F AR ST FT ST g1 AT FES H I 3. 3 O g dl I B HA FAC
(AT TIT H) FAT g2

T TR (% )

Options :

1. %%, 30 dd
2. %3 107G
3. %, 1599
4. %% 20 g

Question Number : 59 Question Id : 2752284278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which school has the highest number of science teachers but the lowest maths teachers?

B Science Teachers = Maths Teachers
o) :
E 14 -
£=
8 12 1
2 10 -
B g
E 4]
3 dd
2 =
n E
A B C o]
Name of School
Options :
1.%D
2. % A
3.¥B
4. ¥ C

Question Number : 59 Question Id : 2752284278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fra fagamer & e & e & veo w98 31f0F ¢ g 7fta & R =58 &7 82

o oy fage o ofte M

A3 W ¥
i |l

e &1 AW

Options :
1.%¥D
2. % A
3.% B
4. ¥ C

Question Number : 60 Question Id : 2752284279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In how many years the sales decreased over the previous year's sale?

180 -
160 - 150

] 130
140 120
120 - 100
100 90

160

115

Sales
8

& 8

20

2006 2007 2008 2009 2010 2011 2012 2013 2014

Year

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 60 Question Id : 2752284279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ﬁﬁ'aﬁﬁﬁﬁﬁgﬁﬁlﬁ%dﬁﬁﬁ%m

180 -
160 - 150

0 A
120

160

130
o SR O
] 100,/ i .
100 d 30

B0 =

&40 -

20 -

0

2006 2007 2008 2009 2010 2011 2012 2013 2014
G
Options :
1. %1
2.9 2
3.% 3
4. % 4
General Hindi
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Group Id : 275228142
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks : 20
Is this Group for Examiner? : No



General Hindi

Section Id : 275228232
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 61 Question Id : 2752284280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufeRad uy &, IR Al 7 @, 39 fawey &1 99 B &) fbar & Y arer I8l fdse 81|
BB EREINEECIGIE

Options :

1. % {qHYg

2. % QABIAIdH
3. % AdHYI]
4.« WRUNdD

Question Number : 61 Question Id : 2752284280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy H, IR fadeul A 9, 39 9wy &1 994 &3 Sl fobar & Y a1 Jel fdswed gl
P TE Y 916 Heardi g |

Options :



1. % Q=g
2. % QABIAIdH
3. % Y
4. ¢ IROMYH

Question Number : 62 Question Id : 2752284281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy A, IR el § T, 39 fahey &1 T3 B St 3100 & U &1 Hgl [Abed 8|
7 3R 1 Y § &1 PR B

Options :

1. ® fouqanfeays®
2. % JdYdIyd

3. ¥ T YD
4. % fqurg

Question Number : 62 Question Id : 2752284281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad s §, IR fawedl § T, 39 fashey &1 Tud &3 Sl 31600 & Y &1 Hal [ddhed gl
I 3R T 30Y § &1d PR B &

Options :

1. % fawranfediu®
2. % GeYSYDH

3. ¢ g YD
4. % fAurd

Question Number : 63 Question Id : 2752284282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8§, IR fawedl & 9, 39 fddhed &1 99+ o Sl YTadTad U1 &1 Wl faded A8l 5|
Options :

1. ® HIdd

2.« Qo

3. % qIddr

4. % Yciq

Question Number : 63 Question Id : 2752284282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR ol 7 9, 39 dhe &1 98 &3 S HigaTae I3 &1 el famed Al B
Options :

1. % HIdd

2. & Wl

3. % qlddI1

4. # Ycld

Question Number : 64 Question Id : 2752284283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy ¥, aR fowed! & 4, 39 fdewed &1 999 & ol HIFH | [T T et o SUR Ja4TH & U T Jat [dbed gl
(PT3) 3T TTT < T BN

Options :

1. ¢ YIRS
2. ® JdYdrash
3. % fAygarad
4. % YOYAMI®D

Question Number : 64 Question Id : 2752284283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fdeed 1999 &1 ol HIFH | [T T et & AR J44TH & W BT Jat [dbed gl
(@Ts) AT TT <l T HIAN?

Options :

1. ¢ Ygarad
2. % JdYdrash
3. % [ygd®
4. % JIYAP

Question Number : 65 Question Id : 2752284284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fdwey &1 99 &3 oY AT 17U Mee & vafgdreh Wee &1 Ug! fawed T8l 81
3

Options :
1. % 38
2. ¥ JUR
3. % Mal
4. % g[d

Question Number : 65 Question Id : 2752284284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foeedl ° T, 39 ey &1 Tu &1 Ol T TN Wsg & TaiaT=! et o1 I8t [dhed A1 8
3fie

Options :
1. # 3lg
2. ¥ qUR




3. % URal
4. % @@

Question Number : 66 Question Id : 2752284285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o L S fadid Ueg &1 Ta 3resT1 fawed 7 | ot
Options :

1. * Ulpd

2. % Y

3. % gitd

4. gaTT

Question Number : 66 Question Id : 2752284285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 faded &1 984 &3 ol fadid eg T Jad 35T [dwed g | AN
Options :

. % wigd

2. % gy

3. % giid

4. AR

Question Number : 67 Question Id : 2752284286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfRad U H, IR [ddedl 7 ¥, 39 A6l [ddhcd &1 994 &< SN areiLl & ol T eg &1 [ddhed gl |
forat o1 HuT T I dRE gy

Options :
1. % hHJIAR




2. % DAY

3. ¢ Hard
4. % PHHT!

Question Number : 67 Question Id : 2752284286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy A, IR fawedl § T, 39 T8l fawey o1 T &3 it a1adiell & ol U Xeg &1 fadwed gl
forat 1 HuT T O dRE AP

Options :

1. % HHIAR
2. % P
3. ¢ Hard

4. % HrAGl

Question Number : 68 Question Id : 2752284287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy d, IR fowedl 7 9, 39 I8! fadwed &1 7 33 Sl faT 17U g & gt 3rf o1 I fasweu gl

DhId
Options :

1. ¥ gfege
2. % pglHl
3. % HOR]
4, % heRRd

Question Number : 68 Question Id : 2752284287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy A, IR fowedl 7 9, 39 I8! fasey &1 7+ 3 il fu U weg & ) 3rf o1 Ifa fdweu 811




CAE!
Options :

1. ¥ ofage
2. % Pyl
3. % HIRI
4. % HcRd

Question Number : 69 Question Id : 2752284288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! # 9, 39 [dded &1 997 3L ol Ys a1 $T 9ad ST f[adhed 3|
Options :

1. % I YAV &1 1Y @l

2. ¢ 3T A DI I1g Y

3. % JEH Y & HI feray,

4. % IYHT AN P 4 ferm

Question Number : 69 Question Id : 2752284288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad vy o, TR fawet § 9, 39 fawey &1 T B3 St Y a1 BT JaY 31T [dhed g |
Options :

1. % I YA &1 1Y o)

2. ¢ I TN &1 Jig |

3. % I "Iy & 91 ford

4. % ITHT AN P A1y foran

Question Number : 70 Question Id : 2752284289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafcRed Uy |, IR fadwedl 7 ¥, 39 fdwhed &1 999 &3 oIl el d1ad He &l f[ddbed gl

S b TRIET BT & 81 3111 o1 39 Ueb 3R 4 =75 uer |
Options :

1. % 3fIIATEIh dTR

2. % Igod qIR

3. ¢ Thg a1

4. % IR dIH

Question Number : 70 Question Id : 2752284289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR el 7 9, 39 faweu &1 997 &% St Tg! a1a U &1 faweu gl

O§ d TRI&T BT 3T 8T 3mm T 39 T 31eR Y a1 ugr T
Options :

1. % 3D dTRd

2. % ggad I

3. ¢ Y 9/

4, % IRA A

Question Number : 71 Question Id : 2752284290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRed Uy |, IR fadweul 7 ¥, 39 fddhed &1 999 &3 oIl ol d1ad He &l f[ddbed 1|
Sedl JOR B o3, el dl <R g Su|

Options :

1. ® fayrFaras a1
2. % iy are

3. % IR I

4. ¢ Hgad I




Question Number : 71 Question Id : 2752284290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufcRed Uy |, IR fadweul 7 ¥, 39 fddhed &1 999 &3 Il el d1ad He &I f[ddbed 1|
Sied] R B SiT3h, et o <R 8 St

Options :

1. % fqyHaras a1l
2. % Ty arey

3. % IR dIe

4. « GYad qId

Question Number : 72 Question Id : 2752284291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, IR fasedl B 9, 39 fdded &1 90 o off faR19 fag gad are &1 @t fdded 31|
Options :

1. % 3 gt Aa 3ffad S & gHten fafay

2. % 3 g TaT e Iu=ITT ot gHten fafau

3. ¢ 3mu gt T sifeer Iu=ITY B eited oy

4. % 30 I, AaT 3if=d, IuATY Pt gHen oAy

Question Number : 72 Question Id : 2752284291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad uy O, aR faswed! & 4, 39 fdeded &1 99 &< Sl fav g god ot &1 Tgt fddhed 8|
Options :

1. % 3mg guft Aar 3ffad Iy & aeten fafay

2. % 3 gt Ae Sfiad Iu=ar &1 Tt fafae

3. ¢ 3Mg g Aer 3ifaa Iy ot gHtern fafag



4. % 30 T, e 3iTq, IuA P gHen fofkag

Question Number : 73 Question Id : 2752284292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadhed &1 70 &1 off T 7T YeTar &1 "t 31 arar fadwea 7
T RER g -

Options :

1. % Ryao

2. % e ST
3. % HifId gIFT
4.  URASTS BT

Question Number : 73 Question Id : 2752284292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa uy & TR fawe # ¥, 39 fadwen &1 7o &% off 3T U YeTar &1 "t 3 arar fadweu 71
T ROR g1 -

Options :

1. % Ryd o

2. % FEA S
3. % QHifId g
4. ¢ YRGS BT

Question Number : 74 Question Id : 2752284293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadhed &1 78 &1 off T 7T YeTar &1 "t 31 ara fadwea 7

CIGKCEIEIE




Options :

1. % DAl HAT

2. % 3MeRfafdrd g
3. ¢ dgHl hAl

4. % PG QM

Question Number : 74 Question Id : 2752284293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaa Uy & IR fawe 7 9, 39 fawen &1 7 &% off 3T 71U YeTar &1 Tt 3 arer fadweu 71

oTd o[ -
Options :

1. % HeTal HAl

2. % SfspFaferd g
3. ¢ ol hAl

4. % PG ol

Question Number : 75 Question Id : 2752284294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reeal 7 9, 39 fdmca o1 987 &3 oY <t 715 Aldbifad &1 agt 3 I s eu g1
THT R B4 -

Options :

1. % YIS B Y& ST =iy

2. YaTg B | HAT IS -1 1

3. % YATS USAIS TR gl Hl A8y
4. % U3.3 & T YIS HRaT

Question Number : 75 Question Id : 2752284294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reeal 7 9, 39 fdhcd &1 987 &3 oY <t 715 Aldbifad &1 agt 3 arar s eu g1
Fo! 3R IB-US -

Options :

1. % YdTs B Yd ST A8

2. YaTg B | HAT IS -1 1

3. % YATS USAIS TR gl Hl A8y
4. % U3 & U YT HRAMI

Sub-Section Number : 2
Sub-Section Id : 275228277
Question Shuffling Allowed : No

Question Id : 2752284295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (76 to 80)

T fou T TR @) EFgdS UG SR Ud UY FT qarad SR g |

3ol g g 31O Uell § 9gd TR $Rd 3] T fad 3514 S0+ H3il ¥ @1 b TR & e gofi ifad i g2 e Rig od 3 o ot
& U BT 3FIHE BITT 8 3R 3 I 3FHT P HEwd P! Heqy BT drgd 3| Tt ¥ Sr fob TR A1 61T golf ¢, ol Hd ot an
H1 8 3R TR H Y8 Tfehd ol /] 3FTa &1 foT ST 3= H3it & 1Y I IS HeR &1 gbM H Ugd 18| HAIER 3U H1H H T g3l
1| T A HT S 98 $B R IUD! g A [AYTH FHA1 18 dl §| HAleR 7 31 9P| 3 &t SR IS e BT 01 HTH = R
| T 3R Iab H2ll A 4@ fob AIGR HUST BIe b §1G el bl STHIM IR IW ol 3R U H I g3 MapTerar 3R HUST Rie & 18 g
1 TIG! H A1 <IelT| ISl A FAIER Y SHBT SRU YST HAER A IS B 3R &dd §U BT “ddl BICHR aic D] BIH Bl 5, 5910Y STD!
oiTe O & 91 81 13y 98] U <&l US| ! Rich BT B4 Pl &, ST 3D oivTg R R - =nfey) H fofeh 7 ol &bl 52t g
TG g T8 G IS = FAIGR B 3O UgaH §dTg 3R YUITH fohdlT| S8 d1¢ S8+ AHIER Bl §1H adh 31U W AgdhR a1 fordT

Sub questions

Question Number : 76 Question Id : 2752284296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o SR Mol ol & &1 U1 a1gd U2
Options :




1. % Tofy
2. % Tl
3. ¥ 3Yd
4. % 3(OAYT

Question Number : 77 Question Id : 2752284297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTST TS HAl = T B h ol b g | YA faar
Options :

1. ¥ fa8T B B T8 Uebe hRd gU

2. % PHUS e DI 3BT Udhe Hd gu

3. % S IS DI 3B YT Hid gU
4. % $B o DI I U< HRd g4

Question Number : 78 Question Id : 2752284298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & IR I AP BIhR ST - I I BT §d1d [T
Options :

1. % 3R U8 ¢ & g &gl
2. % IY R IRT ¢ gleord feam
3. ¢ STH SR WY JATgHR &1 for

4. % g9 §dTs 3R I 7Y

Question Number : 79 Question Id : 2752284299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofRad & § D 91 9ioha o1 fadm e 87
Options :

1. % fopgreita

2. ¢ fAfspg



3. % fharpdang
4. % B

Question Number : 80 Question Id : 2752284300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRed srwse &1 Sugad NS 182
Options :

1. ¢ 3Hd DI ggl

2. % gufil Afdad

3. % O SR T

4. % ST 3R T

Question Id : 2752284295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (76 to 80)

T fou T TR @) EFgdS UG SR Ud UY FT qarad SR g |

3ol g g 31O Uell § 9gd TR $Rd 3] T fad 3514 S0+ H3il ¥ @1 b TR & e gofi ifad i g2 e Rig od 3 o ot
& U BT 3FIHE BITT 8 3R 3 I 3FHT P HEwd P! Heqy BT drgd 3| Tt ¥ Sr fob TR A1 61T golf ¢, ol Hd ot an
H1 8 3R TR T Y8 Tfehd ol | 3FTa &1 o ST 3= H3it & 1Y I IS HeR &1 gbM H Ugd 18| HAIER 3U HIH H Tl g3l
1| T A HT S 98 $B R IUD! g A [AYTH FHA1 18 dl §| HAleR 7 31 9P| WEE?@TWWW&WW%W
| T 3R Iab H2ll A 4@ fob AIGR HUST BIe b §1G el bl STHIM IR IW ol 3R U H I g3 MapTerar 3R HUST Rie & 18 g
1 TIG! H A1 <IelT| ISl A FAIER Y SHBT SRU YST HAER A IS B 3R &dd §U BT “ddl BICHR aic D] BIH Bl 5, 5910Y STD!
oiTe O & 91 81 13y 98] U <&l US| ! Rich BT B4 Pl &, ST 3D oivTg R R - =nfey) H fofeh 7 ol &bl 52t g
TG g T8 G IS = FAIGR B 3O UgaH §dTg 3R YUITH fohdlT| S8 d1¢ S8+ AHIER Bl §1H adh 31U W AgdhR a1 fordT

Sub questions

Question Number : 76 Question Id : 2752284296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o SR Mol ol & &1 U1 a1gd U2
Options :




1. % Tofy
2. % Tl
3. ¥ 3Yd
4. % 3(OAYT

Question Number : 77 Question Id : 2752284297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTST TS HAl = T B h ol b g | YA faar
Options :

1. ¥ fa8T B B T8 Uebe hRd gU

2. % PHUS e DI 3BT Udhe Hd gu

3. % S IS DI 3B YT Hid gU
4. % $B o DI I U< HRd g4

Question Number : 78 Question Id : 2752284298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & IR I AP BIhR ST - I I BT §d1d [T
Options :

1. % 3R U8 ¢ & g &gl
2. % IY R IRT ¢ gleord feam
3. ¢ STH SR WY JATgHR &1 for

4. % g9 §dTs 3R I 7Y

Question Number : 79 Question Id : 2752284299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofRad & § D 91 9ioha o1 fadm e 87
Options :

1. % fopgreita

2. ¢ fAfspg



3. % fharpdang
4. % B

Question Number : 80 Question Id : 2752284300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed srwse &1 Sugad NS 182
Options :
1. ¢ 3Hd DI ggl
2. % gufil Afdad
3. % O SR T
4. % ST SR HAT
General English
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Group Id : 275228143
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Show Attended Group? : No
Edit Attended Group? : No
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Sub-Section Id : 275228278
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752284301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

However, relative cost/ effectiveness is considered/ the most important criteria.
Options :

1. #* However, relative cost

2. # effectiveness is considered

3. ¥ the most important criteria.

4. ¥ No Error

Question Number : 81 Question Id : 2752284301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

However, relative cost/ effectiveness is considered/ the most important criteria.
Options :

1. ®* However, relative cost

2. # effectiveness is considered

3. % the most important criteria.

4. ¥ No Error



Question Number : 82 Question Id : 2752284302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The concrete wall that/ used to divide this city/ has now all but gone.
Options :

1. # The concrete wall that

2. # used to divide this city

3. % has now all but gone.

4. ¥ No Error

Question Number : 82 Question Id : 2752284302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The concrete wall that/ used to divide this city/ has now all but gone.
Options :

1. # The concrete wall that

2. % used to divide this city

3. * has now all but gone.

4. ¥ No Error

Question Number : 83 Question Id : 2752284303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He was quoted (saying that, "But at the same time,) neither was he simply a wonder-worker who left people amazed yet bewildered.".
Options :



1. ¥ saying, "But at the same time,
2. % saying that, "At the same time,
3. % saying that at the same time,

4. ® No correction required

Question Number : 83 Question Id : 2752284303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He was quoted (saying that, "But at the same time,) neither was he simply a wonder-worker who left people amazed yet bewildered.".
Options :

1. ¥ saying, "But at the same time,

2. % saying that, "At the same time,

3. # saying that at the same time,

4. ® No correction required

Question Number : 84 Question Id : 2752284304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The English Channel is a body of water (lying between the Great Britain and France).
Options :

1. # lying in the middle of the Great Britain and France

2. # running across the Great Britain and France

3. ¥ lying between Great Britain and France

4. ® No correction required

Question Number : 84 Question Id : 2752284304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The English Channel is a body of water (lying between the Great Britain and France).
Options :

1. # lying in the middle of the Great Britain and France

2. # running across the Great Britain and France

3. % lying between Great Britain and France

4. # No correction required

Question Number : 85 Question Id : 2752284305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

As I was walking down the sidewalk, I noticed the worm would because it was having a hard time moving on the concrete back to the
grass.

Options :

1. ¥ wiggle
2. ® struggle
3. ® snuggle
4. % boggle

Question Number : 85 Question Id : 2752284305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

As I was walking down the sidewalk, I noticed the worm would because it was having a hard time moving on the concrete back to the
grass.

Options :
1. ¥ wiggle
2. # struggle



3. % snuggle
4. ® boggle

Question Number : 86 Question Id : 2752284306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If the book’s plot is , then readers will quickly grow tired of the boring story.
Options :

1. ¥ pedestrian

2. # restrain

3. % distrain

4. % constrain

Question Number : 86 Question Id : 2752284306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If the book’s plot is , then readers will quickly grow tired of the boring story.
Options :

1. ¥ pedestrian

2. ® restrain

3. % distrain

4. % constrain

Question Number : 87 Question Id : 2752284307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



She simply continued

P. temper, inflexible in her

Q. to be mild in her

R. judgment, disposed to

S. admonish her husband, and

able to frustrate him by stratagem.
Options :

1. # PRSQ

2. % QPRS

3. % PSRQ

4. % RPQS

Question Number : 87 Question Id : 2752284307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

She simply continued

P. temper, inflexible in her

Q. to be mild in her

R. judgment, disposed to

S. admonish her husband, and

able to frustrate him by stratagem.
Options :

1. # PRSQ

2. ¥ QPRS

3. ¥ PSRQ

4. % RPQS

Question Number : 88 Question Id : 2752284308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

unadorned
Options :

1. # embellished
2. # decorated
3. ¥ austere

4. % pious

Question Number : 88 Question Id : 2752284308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

unadorned
Options :

1. # embellished
2. % decorated
3. % austere

4. ® pious

Question Number : 89 Question Id : 2752284309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

profligate
Options :

1. % principled
2. ¥ frugal

3. % careful

4. % gentle



Question Number : 89 Question Id : 2752284309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

profligate
Options :

1. # principled
2. ¥ frugal

3. % careful

4. % gentle

Question Number : 90 Question Id : 2752284310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # perfudy

2. # prefudy

3. % perfidy

4. % prefidy

Question Number : 90 Question Id : 2752284310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # perfudy

2. # prefudy

3. ¥ perfidy

4. % prefidy



Question Number : 91 Question Id : 2752284311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. #* misenthrope

2. # misantrope

3. ¥ misanthrope

4. # missanthrope

Question Number : 91 Question Id : 2752284311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. #* misenthrope

2. # misantrope

3. % misanthrope

4. ¥ missanthrope

Question Number : 92 Question Id : 2752284312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Gall and wormwood

Options :

1. ¥ Strong feelings of resentment and bitterness

2. # To move beyond something that is bothering you
3. # Natural and simple

4. % Permanently, forever



Question Number : 92 Question Id : 2752284312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Gall and wormwood

Options :

1. ¥ Strong feelings of resentment and bitterness

2. # To move beyond something that is bothering you
3. % Natural and simple

4. ¥ Permanently, forever

Question Number : 93 Question Id : 2752284313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fabian policy

Options :

1. % Policy of speeding up decisions
2. % Divided into two equal parts

3. # Equal opportunity to all

4. ¥ Policy of delaying decisions

Question Number : 93 Question Id : 2752284313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fabian policy
Options :

1. # Policy of speeding up decisions



2. # Divided into two equal parts
3. % Equal opportunity to all
4. ¥ Policy of delaying decisions

Question Number : 94 Question Id : 2752284314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Very determined to do something
Options :

1. # Tenet

2. % Tenuity

3. % Talisman

4. % Tenacious

Question Number : 94 Question Id : 2752284314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Very determined to do something
Options :

1. % Tenet

2. % Tenuity

3. % Talisman

4. % Tenacious

Question Number : 95 Question Id : 2752284315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.



Influence of one country or social group over another country or a group of people
Options :

1. ¥ Antimony

2. ¥ Hegemony

3. % Acrimony

4. % Palimony

Question Number : 95 Question Id : 2752284315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Influence of one country or social group over another country or a group of people
Options :

1. % Antimony

2. ¥ Hegemony

3. ¥ Acrimony

4. # Palimony

Sub-Section Number : 2
Sub-Section Id : 275228279
Question Shuffling Allowed : No

Question Id : 2752284316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

Among predatory dinosaurs, few flesh-eaters were bigger, faster and nastier than the "tyrant lizard" of popular imagination, the Tyrannosaurus
Rex. At least, that is what we have been led to believe.

Now research suggests that, far from being the Ferrari of dinosaurs, Tyrannosaurus Rex, whose ferocious reputation has fascinated generations of
schoolchildren, was in fact a cumbersome creature with a usual running speed of twenty-five kilometres an hour. This is a mere snail's pace
compared with modern animals such as the cheetah.

Unlike some of the predators of today's African savannah, which can change direction almost immediately, the dinosaur would have had to turn
slowly or risk tumbling over. And while a human can spin forty-five degrees in a twentieth of a second, a Tyrannosaurus would have taken as



much as two seconds, as it would have been hampered by its long tail. Thankfully, however, all its prey, such as triceratops, would have been
afflicted with the same lack of speed and agility.

The findings were reached after researchers used computer modelling and biomechanical calculations to work out the dinosaur's speed, agility
and weight. They based their calculations on measurements taken from a fossil dinosaur representative of an average Tyrannosaurus and
concluded the creatures probably weighed between six and eight tonnes.

Calculations of the leg muscles suggest that the animal would have had a top speed of forty kilometres an hour, which is nothing compared to a
cheetah’s one hundred kilometres an hour. It is sobering to reflect, though, that an Olympic sprinter runs at about thirty-five kilometres an hour,
not sufficient to outrun a Tyrannosaurus, should Man have been around at that time!

Sub questions

Question Number : 96 Question Id : 2752284317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What caused slow rotating speeds of the Tyrannosaurus Rex?
Options :

1. ¥ Large size and long tails

2. # Large size and short tails

3. % Large size

4. % Short tail

Question Number : 97 Question Id : 2752284318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what has been considered as a prey for Tyrannosaurus Rex?
Options :

1. # Humans

2. ¥ Triceratops

3. ¥ Animals in the Savannah today.

4. % Stegosaurus

Question Number : 98 Question Id : 2752284319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long does it take for a Tyrannosaurus Rex to turn 45 degrees?



Options :

1. #® Twentieth of a second
2. #® Twenty seconds

3. ¥ Two seconds

4. ® Five Seconds

Question Number : 99 Question Id : 2752284320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ® A human can spin forty-five degrees in a twentieth of a second.

2. ¥ The top speed of a Tyrannosaurus Rex was 25 Kmph.

3. # Researchers used computer modelling and biomechanical calculations to work out the dinosaur's speed, agility and weight.

4. ® An average Tyrannosaurus Rex weighed around six and eight tonnes.

Question Number : 100 Question Id : 2752284321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What afflictions did Triceratops face in relation to the Tyrannosaurus Rex being its predator?
Options :

1. ¥ The same lack of mobility, agility and speed.

2. # Predatory skills like that of Tyrannosaurus Rex.

3. # Lower top speed when compared to Tyrannosaurus Rex.

4. ® Increased mobility, agility and speed.

Question Id : 2752284316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

Among predatory dinosaurs, few flesh-eaters were bigger, faster and nastier than the "tyrant lizard" of popular imagination, the Tyrannosaurus
Rex. At least, that is what we have been led to believe.



Now research suggests that, far from being the Ferrari of dinosaurs, Tyrannosaurus Rex, whose ferocious reputation has fascinated generations of
schoolchildren, was in fact a cumbersome creature with a usual running speed of twenty-five kilometres an hour. This is a mere snail's pace
compared with modern animals such as the cheetah.

Unlike some of the predators of today's African savannah, which can change direction almost immediately, the dinosaur would have had to turn
slowly or risk tumbling over. And while a human can spin forty-five degrees in a twentieth of a second, a Tyrannosaurus would have taken as
much as two seconds, as it would have been hampered by its long tail. Thankfully, however, all its prey, such as triceratops, would have been
afflicted with the same lack of speed and agility.

The findings were reached after researchers used computer modelling and biomechanical calculations to work out the dinosaur's speed, agility
and weight. They based their calculations on measurements taken from a fossil dinosaur representative of an average Tyrannosaurus and
concluded the creatures probably weighed between six and eight tonnes.

Calculations of the leg muscles suggest that the animal would have had a top speed of forty kilometres an hour, which is nothing compared to a
cheetah’s one hundred kilometres an hour. It is sobering to reflect, though, that an Olympic sprinter runs at about thirty-five kilometres an hour,
not sufficient to outrun a Tyrannosaurus, should Man have been around at that time!

Sub questions

Question Number : 96 Question Id : 2752284317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What caused slow rotating speeds of the Tyrannosaurus Rex?
Options :

1. ¥ Large size and long tails

2. # Large size and short tails

3. ® Large size

4. % Short tail

Question Number : 97 Question Id : 2752284318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what has been considered as a prey for Tyrannosaurus Rex?
Options :

1. ¥ Humans

2. ¥ Triceratops

3. # Animals in the Savannah today.

4. # Stegosaurus



Question Number : 98 Question Id : 2752284319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How long does it take for a Tyrannosaurus Rex to turn 45 degrees?
Options :

1. # Twentieth of a second

2. % Twenty seconds

3. % Two seconds

4. % Five Seconds

Question Number : 99 Question Id : 2752284320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # A human can spin forty-five degrees in a twentieth of a second.

2. ¥ The top speed of a Tyrannosaurus Rex was 25 Kmph.

3. # Researchers used computer modelling and biomechanical calculations to work out the dinosaur's speed, agility and weight.

4. % An average Tyrannosaurus Rex weighed around six and eight tonnes.

Question Number : 100 Question Id : 2752284321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What afflictions did Triceratops face in relation to the Tyrannosaurus Rex being its predator?
Options :

1. ¥ The same lack of mobility, agility and speed.

2. # Predatory skills like that of Tyrannosaurus Rex.

3. % Lower top speed when compared to Tyrannosaurus Rex.

4. % Increased mobility, agility and speed.
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Question Number : 101 Question Id : 2752284322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Liquid anaesthetic is poured over a mask with gauze and its vapour is inhaled with air. This is called:
Options :

1. * Open system through anaesthetic machines

2. % Open drop method

3. #* Closed system through anaesthetic machines

4. % Close drop method



Question Number : 101 Question Id : 2752284322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R TR BT TSt o JTY HRD TR ST Sildl & 3R 3BT 9T g1 b 1Y 3R ol STl 8 | IE Hol Il o
Options :

1. % GGl A=A & [IEH Y gl o

2. ¢ 309 U AYS

3. % GyTEdr 7= & ATenH ¥ 9§

4. % I QU HYS

Question Number : 102 Question Id : 2752284323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The dose needed to produce maximal therapeutic effect cannot be given because of intolerable adverse effects" is known as:
Options :

1. # Target level dose

2. ®% Regulated dose

3. % Intolerance to a dose

4. ¥ Titrated dose

Question Number : 102 Question Id : 2752284323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" g gfddd THTal & HRUT b ay FRifbeiia T ST B o folT S1aTH TRID ol ol ofl bd!" B HafaRdd & =0 T ST
Vildl &:

Options :

1. % A&T TR Pl TGRID

2. % Tt WRIb

3. % WGP o Ufd Sl

4. ¥ SIHTUT GRID



Question Number : 103 Question Id : 2752284324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has the broad spectrum antiemetic action eftfective in PONV (Post operative Nausea and vomitting), radiation sickeness
vomiting and liver disease induced vomiting ?

Options :

1. # Anticholinergics

2. # Nicotinic acid

3. % Anti-Helicobactor pylori drugs
4. ¥ Neuroleptics

Question Number : 103 Question Id : 2752284324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed § 3 {9 & PONV (JRAHHR Ada! iR Ieech), fafevor ARt It 3R I 7 URd It & e WaeH T fhan
TS g2

Options :

1. % SHiciToERTe

2. % fApifef s Tt

3. % Ud)-gfoTplader USaR! gard

4. ¥ UADH

Question Number : 104 Question Id : 2752284325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The drug active against most gram-positive cocci including MRSA, some VRSA and some VRE is:
Options :

1. ¥ Quinupristin/Dalfopristin

2. # Spectinomycin

3. ¥ Mupirocin

4. ® Fusidic acid



Question Number : 104 Question Id : 2752284325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MRSA, $& VRSA 3R $& VRE Wed HUBI TH-TATS Dlahd & AP Aiohd &dl 6:
Options :

1. ¢ feqURe/semitied

2. % WigeAHEREA

3. % gRIRA

4. % WRfss TS

Question Number : 105 Question Id : 2752284326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The best wetting agent for hard contact lenses is:
Options :

1. ¥ Polyvinyl alcohols

2. % Sodium chloride

3. * Boric acid

4. % Benzalkonium chloride

Question Number : 105 Question Id : 2752284326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. ¢ QAR Sebigd

2. % GIfSTH KRZS

3. % qIe TRTS

4. % SNIADIHIH FIRISS




Question Number : 106 Question Id : 2752284327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is a TRUE statement?

Options :

1. # For the intra-muscular injection, the aqueous solutions should be slightly hypotonic to promote rapid absorption.
2. % Eye drops may be hypotonic, because only a small volume is used which is quickly diluted by lachrymal secretion.
3. ¥ For the solutions used for nasal drops, isotonicity is needed.

4. % For the iv injections, hypertonicity is always desirable.

Question Number : 106 Question Id : 2752284327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I HYT A 82
Options :

1. % SC-TH R SOIaRM & [T, doil I S{ARNYUI DI IGIAT o o oIl STeitd faad= UTeT SequRiER]! gH1 a1 |

2. % 3G & I HURNRI 8l Thd 5, T dhad U DI HEHT BT IGAN [T STdT § SNl AifchHe H1d gRT STea § Yl a1 SIrdl g |
3. ¢ A% &1 §al & foTE IUTNT fhT ST aTel °id & fog, SmgaieARid & axaeddl gidl g

4. % iy IR & o, RIS gA=N aiw-1 gk 3|

Question Number : 107 Question Id : 2752284328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

These ointments are used to relieve itching. Commonly used drugs are benzocaine and coal tar.
Options :

1. #® Keratolytic ointments

2. # Counter-irritant ointments

3. % Antieczematous ointments

4. ¥ Antipruritic ointments

Question Number : 107 Question Id : 2752284328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S AAgH! BT YT Goldll B g B o (o8 ol STl § | AR TR SUANT &1 S aTel! gaTd deliar 3R Sfadbavl g |

Options :

AON ON

1. % Prrelfaicsd AvgH

2. % HJe-3Re< AagH

3. % UIuavIHeY HagH

4. W‘iﬁ (Antipruritic) HAGH

Question Number : 108 Question Id : 2752284329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is TRUE about Hard paraffin ?

Options :

1. ® It is a purified mixture of semisolid hydrocarbons obtained from petroleum.

2. ¥ It is a purified mixture of solid hydrocarbons obtained from petrolatum.

3. # It consists of a mixture of liquid hydrocarbons, obtained from petroleum by distillation.

4. ® It may contain small traces of bleaching agent which are generally left over after bleaching.

Question Number : 108 Question Id : 2752284329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed & 9 &1 9 HoR RIfthd & IR § T 82

Options :

1. % gg USIferad § UT 3fd-319 g2 IdhIad o1 IS e g

2. + U UIfergd ¥ U 31 gIgeldbTa &1 Y& AU g

3. % ZUY 3aH gRT U ¥ U R BIgSIbTa BT YUl gl g |

4. % TTH I Tole & BIC a2V 81 Tdhd g Sl SMHIR TR ST & &8 o9 I8d & |

Question Number : 109 Question Id : 2752284330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is TRUE about Agar ?

Options :

1. ® It is rarely used as an emulsifying agent because it produces very coarse and thick emulsion.
2. % Stable emulsion can be prepared with gum acacia as emulsifying agent.

3. ¥ It is not a good emulsifying agent, as it forms a very coarse and viscous emulsion.

4. ® Tt is used as an emulsifying agent by preparing 10% mucilage, by dissolving in boiling water and cooled at 20°C

Question Number : 109 Question Id : 2752284330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 o1 91 U (STR) & IR & Hd 52

Options :

1. * gg YM9S gl H urRiieR) Tole & U B yaiT foan Sirar 8 Fifer 98 9gd WReT SR A Uy &1 IdTeH Rl g
2. % URGRI Tole & U ¥ Tlig 999 & 1Y FRR U daR a1 S 9 di g |

3. ¥ T ST I R] Tole 7Y 3, Fifeh I8 sgd WRexl 3R Rufedr o srar 81

4. % Y ITAd UM H GIABR 1R 20°C TR ST b, 10% TIRICS TR FHRab TG R] Toie & =0 H TINT fosal Sirar g |

Question Number : 110 Question Id : 2752284331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Incase of Delocalization, one of the following is TRUE about Ethylene:

Options :

1. ¥ Although the six annular carbon atoms are bonded to each other via sp2 orbitals, the resultant molecule does not behave as an unsaturated
compound.

2. # The six annular carbon atoms are bonded to each other via sp orbitals, the resultant molecule does behave as an unsaturated compound.

3. # The four annular carbon atoms are bonded to each other via sp2 orbitals, the resultant molecule does not behave as an unsaturated
compound.

4. ® Although the three annular carbon atoms are bonded to each other via sp2 orbitals, the resultant molecule does not behave as saturated
compound.

Question Number : 110 Question Id : 2752284331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRR 31 fRufa &, Fafifad 7 3 te iR F IR T 9w 8

Options :

1. J%?Iiﬁ@%’ HSATHR HIe- URHTY] sp2 HED| b ATHH I Th-gER I 384 Bld &, TNRUIMTH! 3] Th S i & &9 H TdgR ol

FRAT g

2. % B HSATHR HIa- UIRATY U GER H sp HED| b AILAH F e 8 o, TRUMHY 7] SR A & U H IGR HRT g |

3. % IR HSATHR HIaH IRV T ORI sp2 FHefeh] o HIH F 3aY BId &, TRUMH U] SR AIfTH & U H HagR g! dal g

%. % T I $SATHR HIa IR sp2 FH&feh! o ATIETH I Th-gak I a8 §Id ¢, TROTHT 370] A AR & U § HagR Ta! ol
|

Question Number : 111 Question Id : 2752284332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yellow phosphorus is soluble in which of the following?
Options :

1. ¥ Hydrogen peroxide

2. ¥ Carbon disulfide

3. % Carbon tetrachloride

4. % Carbon sulphate

Question Number : 111 Question Id : 2752284332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

da e RY FafaRad & § fered faaasia g2
Options :

1. % gIESIoH WIFZS

2. ¥ BT SRIAHISS

3. % HE CCIFARZS

4. % PHEF Jobe

Question Number : 112 Question Id : 2752284333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following has been investigated for possible use as anaesthetics, but the sparsity with which this element occurs in nature imposes
severe limitations on any conjectured use ?

Options :

1. ¥ Rubidium
2. % Cesium
3. # Helium

4. % Xenon

Question Number : 112 Question Id : 2752284333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS & T § Guifad v & foe Fafifad & @ feget S &) 71 8, A usfa & g8 da o faxerar & ary g1 7, 9 fopat off
ST SUANT TR THR TS At 82

Options :

1. * Sfefead

2. % HiforaH

3. % fgferad

4. ST

Question Number : 113 Question Id : 2752284334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The characteristic ending "-ol" is for alcohols, phenols, naphthols. Similarly, the ending "-oyl" is for:
Options :

1. # Aldehyde

2. % Enzymes

3. % Carbohydrates

4. % Acyl radicals

Question Number : 113 Question Id : 2752284334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 igd, e, STRITd & fore fa=ivar Uerd -3ia 81 ¥ ok, U - 3iiaa frads o 82
Options :

1. % TfcseTss

2. % Jfdbuq

3. % PlElglgc

A
o

4. ¢ TIISAISH

Question Number : 114 Question Id : 2752284335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Example of Tetrahydro-2H-1,3,2-oxazaphosphorine :
Options :

1. # Phenazocine

2. % Physostigmine

3. % Cyclophosphamide

4, % Pramoxine

Question Number : 114 Question Id : 2752284335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CTTEIZSI-2H-1,3,2-HTRITSITRIER IR BT ICTE0I B
Options :

1. % ToeToiTg

2. % BIEHIRIHM

3. ¥ ARG IRBIHE S

4. % IR

Question Number : 115 Question Id : 2752284336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The dried seeds of Plantago ovata is largely cultivated in

Options :

1. # Sikkim, West Bengal and Odisha

2. ¥ Gujarat, Rajasthan, Punjab and Maharashtra

3. ¥ Maharashtra, Karnataka, Andra Pradesh and Tamil Nadu
4. % Madhya Pradesh, Maharashtra and Goa

Question Number : 115 Question Id : 2752284336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W(Plantago ovata)$@wa’ﬁ@?ﬁagaﬂﬁq? ﬁaﬁ\_ﬂﬁ%l
Options :

1. % fafawy, ufty e sk sife=n

2. ¢ TORTd, VSR, USTTd 3R HERTY

3. % TERIY, Hlcad, 3Ny U= SR arid Arg

4. % AL YR, HERTY 3R Tl

Question Number : 116 Question Id : 2752284337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fully dried ripe fruits of plant Coriandrum sativum Linn. Is substituted by:

Options :

1. # Bengal coriander fruits which contain less volatile oil and are ovate in shape

2. ¥ Bombay coriander fruits which contain less volatile oil and are ellipsoidal in shape
3. # Bombay coriander fruits which contain less volatile oil and are elongated in shape

4. ® Bengal coriander fruits which contain less volatile oil and are elongated in shape

Question Number : 116 Question Id : 2752284337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HidgH Afea fo U1Y & I ave O T U B forads gRT Ufariifi fasar Sirdm |2




Options :

1. % §a 4far v o w1 aroRfiid 9 81d1 8 SR STHR H 3iSTHR 8ld §
2. ¢ S YT e forad &y araitd 9 giaT § SR e R H idqareR giar g
3. % gr ufar wd fSH F aToRitd dd gidT 8 3R TR A Il gidl §

4. % g Yfa B foH w1 araeiie dd 8la1 § 3R 3eR § ol gidT §

Question Number : 117 Question Id : 2752284338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Camphor gets readily liquefied if:

Options :

1. ¢ triturated with phenol, menthol, thymol, chloral hydrate and resorcinol
2. % triturated with phenol, menthol, chlorobenzene, thymol and resorcinol
3. # kept in sulphuric acid

4. ® kept at room temperature with a drop of vanillin

Question Number : 117 Question Id : 2752284338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

1. ¢ fOHIa, ARITE, UISHIE, AR BI8se 3R IR & 1Y feaes
2. % fipIa, AR, TR, UZAN 3R IR & 1Y TN
3. % TG (sulphuric acid) H I@T ST g

4. % R o1 TP g & 1Y & ITIHM TR I 91l §

Question Number : 118 Question Id : 2752284339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For isolation of any active constituent from fresh plant material which of the following is CORRECT?
Options :



1. # The fresh plant material is homogenized with methanol : water (8 : 1) for 15 minutes and then filtered.
2. % The marc is extracted several times with ethanol, combined and then filtered.
3. ¥ The filtrate is concentrated to 1/8th volume under vacuum, acidified and extracted exhaustively with chloroform.

4. ® The aqueous basic layer is evaporated and extracted with ethyl acetate.

Question Number : 118 Question Id : 2752284339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafaa & o o foodft oft Iftha Toes o arem Ne Il T S/ B3 & fore |8t 82

Options :

1. % TSl O &) ATl 1 15 e o forg Awiie : Ot (8 : 1) & A1y IHFfigd ST ST & 31R iR ftheex fosar Sran g |
2. % TTh B s IR YA P 1Y BTaT ST 8, Tgad far ST § 3R o ftheer far Siar g1

3.  FreTe QogH & e 1/8t AR A Fifsd €, sl fohan ST § 8fR FiRIpTH & 1Y T R ¥ Rprar Sar 31

4. % g I URd I1SId g1 91Tl § 3R 3UEd URice o a1y el St 5|

Question Number : 119 Question Id : 2752284340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is TRUE?
Options :

1. ® Hydroxyl value is the number of milligrams of potassium sulphate required to neutralise the acetic acid capable of combining by acetylation
with 1 g sample of fat or oil.

2. % Unsaponification matter is the matter present in fats and oil, which after saponification and subsequent extraction remains non-volatile on
drying at 70 °C.

3. # Hydroxyl value is the number of milligrams of potassium sulphate required to neutralise the acetic acid capable of combining by acetylation
with 1 mg sample of fat or oil.

4. ¥ Unsaponification matter is the matter present in fats and oil, which after saponification and subsequent extraction remains non-volatile on
drying at 80 °C

Question Number : 119 Question Id : 2752284340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FuffRd AT s T I 32

Options :

1. # grEgiad A UIeRaH Tethe & I & T g S | ¢ 991 I1 dd & T & 1Y TRIfCHIH Rl gRT YaoH & § 9el
RIS 3 Bl SRR DR & U 3w B

2. % TR Ueref adr 3R o H Hielg uerd §, S AT 3R 91g & fshs01 & &g 70 °C TR Y@ WR IR-aro=fid | g

3. % gIRSIAd AF U Yethe & AU ! T € Sl | mg G911 ad & T & 1Y TRIfCHIHRul gRT TaioH - § 9el
RIS o Bl 3R DR & T 3i1azuss B

4. SATGAIDHRO Terd a9 3R o H Hivlg Uard 8, S A0l 3R §1g & sy & §1¢ 80 °C TR Y@ IR IR-aT=id 8dr g |

Question Number : 120 Question Id : 2752284341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the CORRECT relationship.

Options :

1. #® Lipmann - Role of ATP in biological system - 1920

2. ® Meselson and Stahl - discovered DNA polymerase - 1958
3. % Kuhne - proposed the term 'Enzyme' - 1877

4. ® Neuberg - Chemical pathway for fermentation - 1920

Question Number : 120 Question Id : 2752284341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el ey P! fafed B

Options :

1. % foO8H - Sifad gome o ATP &t YfHT - 1920

2. % DT 3R W - DNA TIHERS &1 WISl B - 1958
3. ¢ $g - UfhUq (TSTSH) Xeq BT UATd T - 1877

4. % &1 - fopuad o forg IS A1 - 1920
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Question Number : 121 Question Id : 2752284342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is FALSE for eukaryotic cell?

Options :

1. # Double membrane bound nucleus containing linear chromosomes.

2. % Complex 8+2 type undulipodium, cytoskeleton, cytosis and mitosis.

3. ¥ Many membrane bound organelles and double membrane-bound endosymbionts.

4. # Cytoplasmic streaming allows rapid transport across the cell.



Question Number : 121 Question Id : 2752284342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b BB & o7 S T HYF 3 72

Options :

1. % fgop fRrech aren Tiftves s YR o g1a &

2. ¥ BITIR] 8+2 THR SAGTATSTH, HIRADHT hehld, Ay R LETHSH|
3. % Pg faeal TG DB R fgab RHc-3as TeiRiftea=y|

4. % HIRDHIEH FIR T DHIAGT H doil ¥ URTe- 1 A Sar g

Question Number : 122 Question Id : 2752284343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Without this, many disease-causing bacteria loose their ability to infect because they are unable to attach to the host tissue.
Options :

1. # Plasmids

2. % Nucleoid

3. # Flagella

4. ¥ Pili

Question Number : 122 Question Id : 2752284343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a1, g INT T = T A7) Tehford B BT ST & T/l 3 & 1 3 UIoeh Srddh © e o orqaed g1 §
Options :

1. ® IS

2. % Yfkmaiss

3. % DB

4. focit



Question Number : 123 Question Id : 2752284344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number of proteins present in a large 50S subunit and 30S subunit of ribosomes of a prokaryotic cell:
Options :

1. ¥ 34 proteins and 21 proteins respectively.

2. # 36 proteins and 19 proteins respectively.

3. % 34 proteins and 19 proteins respectively.

4. % 32 proteins and 21 proteins respectively.

Question Number : 123 Question Id : 2752284344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTahGah! HIRABT P A & s 508 JaGAT 3R 30S Fagfe & A W S T
Options :

1. ¢ HHT: 34 T 3R 21 UEH|

2. % HA: 36 WA 3R 19 Y|

3. % AT 34 TIEH 3R 19 WA |

4. % HA: 32 W 3R 21 UEHA|

Question Number : 124 Question Id : 2752284345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number of proteins present in a large 60S subunit and 30S subunit of ribosomes of eukaryotic cell:
Options :

1. ¥ 49 proteins and 33 proteins respectively.

2. % 33 proteins and 49 proteins respectively.

3. # 40 proteins and 39 proteins respectively.

4. % 29 proteins and 13 proteins respectively.

Question Number : 124 Question Id : 2752284345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

JHaH! HIRNDT & IS & T 60S FaGHT 3R 308 TG H Hiolg U &1 H&:
Options :

1. ¢ HU: 49 I 3R 33 M|

2. % HHT: 33 WA 3R 49 Y|

3. % AT 40 WA 3R 39 WA |

4. ® HH: 29 M 3R 13 UEA|

Question Number : 125 Question Id : 2752284346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amino acid oxidases, catalase-oxidative degradation reactions. These are related to:
Options :

1. % Mitochondria

2. # Cytoplasm

3. ¥ Peroxisomes

4. # Lysosomes

Question Number : 125 Question Id : 2752284346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3t SIS d, beaa-satsfed fele=m ufafeant | & 3a9 defid g
Options :

1. % LABOMD]

2. % DIRIBIGH

3. ¢ IR

4. % AN

Question Number : 126 Question Id : 2752284347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which are mainly concerned with protection of the body against microbes and other damaging substances that enter in the body?
Options :

1. ® Platelets

2. % Erythrocytes

3. # Thrombocytes

4. ¥ Leukocytes

Question Number : 126 Question Id : 2752284347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T T I I3 3R TR & Y3 3 aTdl 31 gHe RS Ueref & Rads IR &t qRefm F eifda g2
Options :

1. % fQTayy

2. % TRYNECH

3. % YHERIgCH

4. ¥ HIEECH

Question Number : 127 Question Id : 2752284348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Correct statement for Peripheral nervous system is:

Options :

1. #® Afferent nerve fibres convey nerve impulses carrying 'output' from the brain to effector organs.
2. ¥ Motor nerve fibres convey nerve impulses carrying 'output' from the brain to effector organs.
3. # Motor nerve fibres provide the brain with 'input' from organs and tissues.

4. ® Sensory nerve fibres convey nerve impulses carrying 'output' from the brain to effector organs.

Question Number : 127 Question Id : 2752284348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ufkeftg dfe & & foe we Hu 7

Options :



1. % SIS dRPT dq ARTSH I YHTTHR] ST A 3Ty o S a1 diADT STaT Bl AU o g |
2. ¢ HieR dfAenT dq ARKTSH ¥ THTAT 31 e '3T3ege o S aTd diAdT STl &l JUd HRd g |

3. % T dHA®T dg ARTS B 3T R SHdd! I TYC UM HRd ¢ |

4. % Fad) I dq AiTH I UHTIHRT 3T e '3T3eYe o ST aTdl AT AT ol JUd vd g |

Question Number : 128 Question Id : 2752284349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Basement membrane is present in all, EXCEPT:
Options :

1. ¢ Stratified epithelia

2. # (Ciliated columnar epithelium

3. # Cuboidal epithelium

4. ® Columnar epithelium

Question Number : 128 Question Id : 2752284349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR farech Fofoaiad @ & Aive g &, Rram:
Options :

1. ¢ IRIPHd Ul

2. % JAD TWHHR ITHhdl

3. # Y[R 3UDdI

4. % THDR IUB

Question Number : 129 Question Id : 2752284350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All of the below are the sub-areas of Family Health Services, EXCEPT:
Options :

1. # Health education



2. ¥ Education through media
3. ¥ Maternal child health services
4. ¥ Nutrition

Question Number : 129 Question Id : 2752284350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 feu e gt uRaR W@y Y913t & Iu-87 B, Rrama:
Options :

1. % ey fRren

2. ¢ HifSHT & AIegH Y fRien

3. % Y1 Ry Wy Yarg

4. % Q0T

Question Number : 130 Question Id : 2752284351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which group of amino acid is CORRECT in relation to essential amino acids?
Options :

1. # alanine - arginine - leucine - glutamine

2. ¥ isoleucine - methionine - valine - lysine

3. # phenylalanine - alanine - valine - lysine

4. ® isoleucine - arginine - valine - phenylalanine -lysine

Question Number : 130 Question Id : 2752284351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3 T DI T g HTard il ofd & day & |gl g2
Options :

1. % QA - 3T - T - TeTHT=A

2. ¢ UG - AR - afer - dgRE




3. % TETER - YR - AR - TR
4. % STEIEGRA - S - AR - RYETTeH - eRM

Question Number : 131 Question Id : 2752284352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The preventive measures of infections are given below, except one. Mark the incorrect one.
Options :

1. # Early diagnosis and treatment until cure.

2. # Proper health education regarding hygiene.

3. ¥ Preventing personal hygiene.

4. ® Avoiding irritational products.

Question Number : 131 Question Id : 2752284352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Dl BISHR, hHU T 9919 & U 1 feu 1t 81 71ad & fifgd + |
Options :

1. % 2fg FeM SfiR Ifad I SUER|

2. % gw3dl & Jay U Ifed warey e

3. ¢ HfadiTd W3 dl di JApT|

4. % S Uc] H 91d IdTe] I S|

Question Number : 132 Question Id : 2752284353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To avoid eye strain, which statement should be avoided?

Options :

1. ¥ Give direct exposure of eyes to direct sunlight and extreme brightness for nutritional gain.
2. ® Hold the book at 45-75 degrees horizontally.

3. # Reading must be done under sufficient light.



4. # Avoid reading in moving vehicle or in a lying position.

Question Number : 132 Question Id : 2752284353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & T19 q §I1 & forg f5T Hy= I g1 Anfee?

Options :

1. ¥ TINUT Y & ForT 31ia &1 A T 3R Sraafdies ahe & fore e due ¢ |
2. % QD B Afas U I 4575 S R s s |

3. % UoH Jaitd U= § AT dTe¢|

4. % eI aTg- 1 e & fRufd # usq 9 a9 |

Question Number : 133 Question Id : 2752284354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Patent office has branch offices with territorial jurisdiction on a zonal basis in INDIA as:
Options :

1. ¥ Mumbai branch office with the jurisdiction on the states of Maharashtra, Gujarat, Madhya Pradesh, Goa, Diu and Dadra & Nagar Haveli
and Chhattisgarh

2. % New Delhi branch office with the jurisdiction on the states of Haryana, Himachal Pradesh, Jammu & Kashmir, Punjab and Goa

3. # Mumbai branch office with the jurisdiction on the states of Maharashtra, Gujarat, Madhya Pradesh, Goa, Diu and Dadra & Nagar Haveli,
Karnataka

4. ® New Delhi branch office with the jurisdiction on the states of Haryana, Himachal Pradesh, Jammu & Kashmir, Punjab, Goa and Chandigarh

Question Number : 133 Question Id : 2752284354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Oce HRaT &t YR H 81T YR R &5 3feR &7 arel [RaT srtad g

Options :

1. ¢ HBRIY, T[ORId, 7L UG, 7T, €19 3R G 3R TR gaei 3R BTG IAedl & SHYBR & & I1 Heis Rl brafed
2. % BTN, fEHTae TR, S 3R HRUR, ToTe R a1 Il &SGR &3 & 1Y =18 et Aral Hrafad

3. % TERIY, TORId, T U=, T, €19 3R GIeRT 3R TR gaeh, Frfcd Isdl & ISR & & 1Y Gas IRaT drafad




4. % giamon, ferraa Uew, oW 3iR SRR, USTE, T 3R JeNTg sl & SI®R &3 & 1Y 78 facd! el drafad

Question Number : 134 Question Id : 2752284355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According o the Shop and Establishment Act and the Factories Act, 1948 one of the following is TRUE

Options :

1. ¥ No young person or women are allowed to work before 6 a.m. and after 9 p.m. in any establishment and also to perform such work as my
be declared by the State Government.

2. # No employee is allowed to work for more than 12 hours in any day and for 72 hours in a week.

3. ¥ No young person or women are allowed to work before 6 a.m. and after 7 p.m. in any establishment and also to perform such work as my
be declared by the State Government.

4. ® No employee is allowed to work for more than 12 hours in any day and for 48 hours in a week.

Question Number : 134 Question Id : 2752284355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R UTASH ST iR HR@MT IaH, 1948 & SHUR FofaRad A A e ad §

Options :

1. % Tt oft gar a1 afgen &1 fordht o wfas™ o 6 Yafe T Usd 3R 9 SURTE & §1¢ HTH B B AN ol & 3R Ao PR GRTIT
fory T & Y B & forw oft ergAfa AT R

2. % ot oft Hra 1 U fo o 12 €9 ¥ 3ifies 3R Twdrg § 72 € 31fid B o Bt Sl Tl 8|

3. ¢ Tt oft gar oy afgen ) ol ot ufasm & 6 gafe I Ugd iR 7 3MRIE & d1¢ B 634 B STAf 781 & 3R I WBR gRT it
P TTT SR B oY A F for o srgmfa i &)

4. % fdl Wt AR &1 T feA & 12 98 9 31 SR I8 § 48 ©e¢ 9 IS S0 R B S 151 6 |

Question Number : 135 Question Id : 2752284356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following sentences is CORRECT about the AICTE council members?
Options :

1. # The Chairman is appointed by the State Government



2. ¥ One member to represent the Ministry of Finance to be appointed by the Central Government.
3. # One member of Parliament who shall be elected by the House of People and one of the Council of States.

4. # Seven other members to be appointed by the State Government.

Question Number : 135 Question Id : 2752284356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad A ¥ &9 I1 a1 AICTE URYE & Y=l & aR & Hgl 82

Options :

1. % 3feel Bt FAgfad Iod WHR Halt 8

2. ¢ &g WHR gRI G fobT S a1t T Hairerd o1 ufafifeied 3 & fog b e |
3. % TC BT TS Yo Sl Al THT 3R Id| &1 IRee H ¥ T gRT A1 S|

4. % I WHR gRT g fHT §H arel I1d 39 95 |

Question Number : 136 Question Id : 2752284357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Clandestine arrangement?

Options :

1. ¥ No pharmacist should enter into any secret arrangements or contract with a physician, to offer him any commission or any advantage by
recommending his dispensary or drug store.

2. % Pharmacist should enter into any secret arrangements or contract with a physician, to offer him any commission or any advantage by
recommending his dispensary or drug store.

3. # No medical representative should enter into any secret arrangements or contract with a physician, to offer him any commission or any
advantage by recommending his dispensary or brands.

4. % A medical representative should enter into any secret arrangements or contract with a physician, to offer him any commission or any
advantage by recommending his dispensary or brands.

Question Number : 136 Question Id : 2752284357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T STRIT (TS SROTHE) FT 52




Options :

1. ¢ Tt oft Yooy o1 foredt FRiforces o Ty i T a1 a1 SaY gl H31 ANy, dlfs a8 310 SNUTAT I1 gal B g1 &1
RIPTRRT HX P I PIg HUIRA AT Dls ATH & b |

2. % NYoTY B! [Hl Fifreid & 1Y DIs T AT T 3 HIAT AT6T, Al a8 37U ST T &al i ghH DI RIBINS HIb
I DIS HHIRA AT Hlg ATH UGH B b |

3. % Tt off Farforcar ufafafer o forelt Ferfareaas o am foredt T oot am ey & Ua=T gl -1 iy, difds a8 31U+ Sivererg a1
sl &1 RIBIRRT R I Hls HHIRME AT PIg 1Y ¢ T |

4. % U9 FIforc ufafAfd &1 fordt fifrcae & WY DI W TR T 3y HRAT A1RT, dlfds ST VU T TS DI RIGINT B
39 fordft oft e ar farddt oft ey b1 URTh R R b |

Question Number : 137 Question Id : 2752284358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Opium was brought under legislative control in the year:
Options :

1. # 1859

2. % 1957

3. % 1851

4. ¥ 1857

Question Number : 137 Question Id : 2752284358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 D! forg Iy H faerdt feisror & ama mam U1
Options :

1. % 1859

2. % 1957

3. % 1851

4. ¥ 1857

Question Number : 138 Question Id : 2752284359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The import of foreign goods of one country to export it to other counties is called:
Options :

1. * Import trade

2. % Export trade

3. ¥ Entrepot trade

4. % Extrapot trade

Question Number : 138 Question Id : 2752284359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T =1 & fadeht avg o) gar 30 & fafd e & o S &) ot STl 3
Options :

1. % 3HOTd AUR

2. % f4gid IR

3. ¢ TdUIC AUR

4. % TR AR

Question Number : 139 Question Id : 2752284360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is that partner called as who has neither contributed any capital to the firm nor takes part in the management of the firm but talks to the
outsiders to create an pression that he is a partner of the firm ?

Options :

1. % Secret Partner

2. ¥ Partner by estoppel

3. % Sleeping or Inactive partner

4. ¥ Partner in profits only

Question Number : 139 Question Id : 2752284360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I HINGR &1 1 Had & o 1 Al BH DI DI Goll &1 § 3R 7 81 BH & Yo T YT TdT § i STeX! ATl 1 §Td b Ig YROM
g1 § 6 98 wH &1 HrfleR 82

Options :

1. ® T YFieR

2. ¢ TCIUA GRT YNGR

3. % {95 a1 fAfshyg yrfier
4. % Had aiy § UifleR

Question Number : 140 Question Id : 2752284361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the following is NOT a fixed shop large scale retailer:
Options :

1. # Mail order business

2. ® Hire-purchase shops

3. # Co-operative stores

4. ¥ Speciality shops

Question Number : 140 Question Id : 2752284361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @t i g ggq ufkHT get fadar 78t ©:
Options :

1. # Sl AMUR

2. % fHm-TeRl &t g

3. % GEPHRI HSR

4. ¢ a9 g
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Question Number : 141 Question Id : 2752284362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECT statement for getting the licence for sale of drug.
Options :

1. ¥ An affidavit of non-conviction under Drugs and Cosmetics Act on Rs. 3/- non-judicial stamp paper, duly attested by a first class magistrate
1s to be attached with the application form no. 19.

2. # Application form no. 20 duly completed in duplicate of Drugs and Cosmetics Rules, 1945.
3. % Application form no. 21 duly completed in duplicate of Drugs and Cosmetics Rules, 1945.
4. % Application form no. 21A duly completed in duplicate of Drugs and Cosmetics Rules, 1945.
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to VED analysis for Inventory control, which suits the best?

Options :

1. #® Generally classified into three categories, i.e., V stands for Vital; E stands for Evaluation; D stands for Desirable.
2. # Generally classified into three categories, i.e., V stands for Vigorous; E stands for Evaluation; D stands for Data.
3. ¥ Generally classified into three categories, i.e., V stands for Vital; E stands for Essential; D stands for desirable.

4. ® Generally classified into three categories, i.e., V stands for Various; E stands for Essential; D stands for Data.

Question Number : 142 Question Id : 2752284363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 143 Question Id : 2752284364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the CORRECT option for the organization of health delivery system in descending order.
Options :

1. # Union Ministry of Health and Family Welfare, Regional directors, Deputy secretary, Public health.
2. ¥ Ministry of Health and family welfare, Secretary, Commissioner, Joint Secretary.

3. ® Minister of State for Health, Secretary, Regional directors, commissioner.

4. ® DHS Public Health, DGHS, Joint Secretary, Minister of State for Health.
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are various factors affecting the economy of a hospital. One of the factors is manufacturing capacity. Manufacturing capacity depends on:
Options :

1. #® number of technically incompetent and partially qualified pharmacists

2. % direct cost and indirect cost of the hospital

3. # calculation of consumption rate and the size of equipment

4. ¥ availability of equipment and economy of a hospital to fulfil the requirement

Question Number : 144 Question Id : 2752284365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 2752284366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bead sealing method is:

Options :

1. ¥ Tip of ampoule neck is heated to form a bead which closes the opening.

2. % Tip is grasped firmly and pulled quickly with continuous rotation of ampoule over flame.
3. # The method gives rise to a capillary tube, formed twisted and closed.

4. ® Tt is slower but more sure than tip sealing.
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The drugs for hospital use may be purchased as follows, EXCEPT:
Options :

1. # Directly from manufacturer

2. % From wholesaler or manufacturer by bid

3. # From local retail pharmacy

4. ¥ By purchasing the left over from smaller clinics.
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pharmacy and Therapeutic Committee is composed of:

Options :

1. ¥ At least three physicians, a pharmacist and a nurse representative.

2. % At least three pharmacists, two physicians and a nurse representative.
3. # At least three physicians, two nurses and a pharmacist.

4. ® At list three physicians, three pharmacists and two nurse representatives.
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Select the proper matching for DOSY:

Options :

1. ® An X-detected experiment for e.g. 1 H-13C 1-bond correlation, which suffered from lack of sensitivity (in the case of 13C).

2. # The transfer of polarisation from, for example, proton to carbon. This is used in 13C solid state NMR to enhance the magnetisation of the
13C

3. ¥ Pulsed field gradients are used to map the physical location of molecules and molecular diffusion is characterised along the direction of the
applied field gradient (usually the z-axis).

4. % Homonuclear experiment to detect coupling. Used mostly for 1 H but for example can be used for 19F too.
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Question Number : 149 Question Id : 2752284370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

Pirkle type interaction is:

Options :

1. ¥ Straight-phase solvents are used, typically propane-2-ol-hexane.

2. % High enantioselectivity for a-amino acids and a-hydroxy amino acids.
3. % Cheap, readily available pure, natural amino acid chiral selector.

4. % Low or medium molecular weight chiral selector.
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There are some acronyms and their expansions. Identify the WRONG one.
Options :

1. ¥ HETCOR stands for Heteronuclear Corelation

2. % DOSY stands for Diffusion-Ordered Spectroscopy

3. # NOESY stands for Nuclear Overhauser Effect Spectroscopy.

4. ¥ ROESY stands for Rotational Overhauser Effect Spectroscopy.
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Orientation : Vertical
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Which statement describes the solid state NMR best?

Options :

1. # The orientation of molecules with respect to each other and the static magnetic field is effectively random.
2. # Molecules are generally free to undergo translational and rotational movement.

3. ¥ The spins of NMR active nuclei in solids are held in distinct environments and can interact with each other in a way that is not motionally
averaged.

4. ® Averaging of any interaction is independent on the orientation of the magnetic field.

Question Number : 151 Question Id : 2752284372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Which ionization technique can also be used with very low flow separation systems such as capillary electrophoresis, capillary HPLC and chip
style separators?

Options :

1. # Electrospray

2. ¥ Nanospray

3. % Atmospheric pressure chemical ionization

4. ¥ Chemical ionisation

Question Number : 152 Question Id : 2752284373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 153 Question Id : 2752284374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three types of area networks. Select the CORRECT match.

Options :

1. ¥ LANSs are used to connect networking devices that are in a very close geographic area, such as a floor of a building, a building itself, or a
campus environment.

2. % WAN is a hybrid between a LAN and a MAN.

3. # MAN:Ss are used to connect LANs together. Typically, MANSs are used when the LANs that must be connected are separated by a large
distance.

4. ¥ WANS are used to connect networking devices that are in a very close geographic area, such as a floor of a building, a building itself, or a
campus environment.
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Static routing:

Options :

1. #® The process involves use of peculiar routing protocols to hold communication with minimum of four routers.

2. % The manual updating is also required in case of statically configured routers when change in the topology of the network or in the layout
takes place.

3. % For larger environment dynamic routing proves to be the practical solution.

4. ® The purpose is to enable the other routers to transfer information about to other routers, so that the other routers can build their own routing
tables.
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Question Number : 155 Question Id : 2752284376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two types of Visual Display Unit. Which statement describes about it in a TRUE sense?

Options :

1. # Cathode-Ray Tube Monitor takes only one illuminated pixel to form whole character, such as the letter 'e' in the word help.
2. # The bigger the pixels of Cathode-Ray Tube Monitor, the better the image clarity or resolution.

3. % The screen of Cathode-Ray Tube Monitor can be divided into a series of character boxes-fixed location on the screen where a standadard
character can be placed.

4. ® Flat- Panel Display Monitor can be divided into a series of character boxes- fixed location on the screen where a standadard character can
be placed.
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Question Number : 156 Question Id : 2752284377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Microsoft office powerpoint is everything, EXCEPT one of the following:



Options :
1. # enables anyone to produce, with a little practice, beautifully laid out presentations, either as on-screen shows, or as OHP slides.
2. # Files produced in PowerPoint 2007 have the file extension ".pptx"

3. # If you wish to use an old PowerPoint presentation in PowerPoint 2007, PowerPoint will switch to compatibility mode, to let you work on
the old file with no problems.

4. ¥ type of computer program that is used to create a variety of documents, from simple letters to fully illustrated newsletters and fliers.
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Question Number : 157 Question Id : 2752284378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Navigation pane:

Options :

1. ¥ Use it to access libraries, folders, saved searches and even entire hard disks.

2. % Appears only when you are in library such as the document library.

3. % Used to perform normal tasks, such as changing the appearance of files, burning files to a CD or starting a digital picture slide show.
4. #% Works together with the address bar.
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Question Number : 158 Question Id : 2752284379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Transmission of pain stimuli; increased vascular permeability; and mast cell degranulation, these are some of the main proinflammatory actions
seen with somatostatin. This can be related to:

Options :

1. #® Serotonin
2. % Histamine
3. # Eicosanoids

4. ¥ Neuropeptides
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Question Number : 159 Question Id : 2752284380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the CORRECT match for tissue machrophages.

Options :

1. ¥ Epithelioid cells are modified macrophages seen in granulomatous inflammation.
2. # Histiocytes are macrohages which are absent in connective tissues.

3. ® Kupffer cells are the macrophages of the kidney.

4. # Reticulum cells are the macrophages of connective tissues.
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Question Number : 160 Question Id : 2752284381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Primary complex in lungs consist of three components. Identify the INCORRECT option.
Options :

1. #® Lesion in the lung is the primary focus or Ghon's focus.

2. % The lymphatics draining the lung lesion contain phagocytes.

3. % The affected lymph nodes are matted and show caseation necrosis.

4. ¥ The infection of an individual who has been always infected from childhood is called Ghon's complex.
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Question Number : 161 Question Id : 2752284382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Depending upon the capacity to divide, the cells of the body can be divided into 3 groups. Identify the CORRECT description.
Options :

1. ¥ Stable cells decrease or lose their ability to proliferate after adolescence but retain capacity to multiply throughout adult life.
2. % Permanent cells lose their ability to proliferate but keeps on multiplying thoughout the lifespan.

3. # Labile cells decrease or lose their ability to proliferate after adolescence but retain capacity to multiply throughout adult life.

4. % Stable cells continue to multiply throughout life under normal physiologic conditions.

Question Number : 161 Question Id : 2752284382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faHTRTd 37 P &A1 & SMUR WR, YRR B BRSBTS DT 3 Tg! H faHTira fovam o weran 8 1 T8 faavur &1 ugam™ &

Options :

1. ¢ RR SR (BRI & 918 TIRIGAT Bi &HdT HH T W Gl § Ao+ X TP iia- B IO FHR- B &HdT S8 34 ¢ |

2. % R BB dg DI &1 Wl it € Afeh STt 4R T[0T et I8 ] |

%@W%WWWW@W%HT TeRInGa 1 & W Gl § <lidh YR IR Si1a-] H 10 R &1 &l 1Y
|

4. % Qg IR RUfaal & fRR SR Siiam 1R 707 &l @ g

Question Number : 162 Question Id : 2752284383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rise in the tube continue until the upward movement is just balanced by the downward force of gravity due to the weight of the liquid. This
happens in :

Options :

1. #® Tensiometer

2. % Bubble pressure
3. ¥ Capillary rise



4. ¥ Drop weight

Question Number : 162 Question Id : 2752284383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fereeT # 9fE a9 I SIR) 3G § SId a0 o 35 7T TR b UR & HRUT TN b U Fa1 gRT Iford et &1 St | T8
frafafad & giar &:

Options :

1. % CRyefife

2. ® dadq ald

3. ¥ BRFTgfa

4. % YR H HHI

Question Number : 163 Question Id : 2752284384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the CORRECT option regarding host in inclusion complexes.
Options :

1. # Paraffins, Ethyl alcohol, Amylose

2. % Urea, Thiourea, Amylose.

3. ® Esters, Urea, Thiourea

4. # Ethyl, alcohol, Dioxane

Question Number : 163 Question Id : 2752284384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHIAYH URER H GIveh & Yoo H gt f[ddbed b1 Ig DY |
Options :

1. % TR, TR Siephled, TaTR S

2. ¢ GRAT, YRAGRAT, THIS AN |

3. % TR, R, YrAGRAT



4. % T, chigd, SP3HH

Question Number : 164 Question Id : 2752284385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Quinhydrone complexes are formed by:

Options :

1. ¥ Overlapping of the pi framework of molecules.

2. % Overlapping of the sigma framework of molecules.
3. # Carbon bonding which stabilizes the association.

4. ® Hydroxide bonding which unstabilizes the association.

Question Number : 164 Question Id : 2752284385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fPTeReH Bircay fbgd gRI s d 82

Options :

1. ¢ 33 & UTS oid I iR

2. % ULl & R g o1 SffATdianRun|

3. % BHIa YD S TgdoH DI R B 5|

4. % GIGIHITSS HEUD ol TgdIST Bl SRR FRAT |

Question Number : 165 Question Id : 2752284386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is CORRECT in relationship shown as Enzyme : Substrate : Inhibitor ?
Options :

1. ¥ Monoamine oxidase: Catecholamines: Ephedrine

2. # Acetylcholine esterase: Catecholamines: Ephedrine

3. % HMG CoA reductase: Vitamin K: Lovastatin

4. % Xanthine oxidase: Hypoxanthine: Dicumarol



Question Number : 165 Question Id : 2752284386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied & 9 & 91 ufeua: gstce: FRiu® & 0 § foam U gy & 98t 82

Options :
1. ¢ A S Hed AR Thig
2. % TRICABITC TR BehIATHIG: ThisH

3. % HMG CoA Reaeq: faerfiq k. diarefeq
4. % SIfYT SIS BEUIRIRA: fSHHRIA

Question Number : 166 Question Id : 2752284387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Allopurinol gets converted to alloxanthine. Which inhibition does it refer to?
Options :

1. # Allosteric inhibition

2. ¥ Suicide inhibition

3. % Irreversible inhibition

4. ® Reversible inhibition

Question Number : 166 Question Id : 2752284387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAIGRAT, TARA & uRafda 8 o 81 ue i sfRdm o1 3wra dvar g2
Options :

1. % TAReR® g

2. ¥ S SR

3. % SRaRied sfedrm

4. % RaRisa sfgdirm



Question Number : 167 Question Id : 2752284388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the CORRECT option for coenzyme and its function.
Options :

1. # UDP - donates phosphate, adenosine and AMP moieties.

2. # CDP - donates methyl group in biosynthetic reactions.

3. % ATP- required in phospholipid synthesis as carrier of choline.

4. ¥ UDP- carrier of monosaccharides, required for glycogen synthesis.

Question Number : 167 Question Id : 2752284388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qevfhud SR 3P B & o "L faded &1 9= H1 |

Options :

|. % UDP - BIThe, TSNS 3R AMP HIUC &F Hdl ol

2. % CDP - SIau=avur Sffeharat o frmgd g oM exdl g

3. ® ATP- I & 918 & ®U H HIIDIINS LAYl H e g |
4. ¢ UDP- UHARIBR] BT TP, TATSDH o YA & oI I |

Question Number : 168 Question Id : 2752284389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most frequently found amino acid at the active site is:
Options :

1. # isoleucine

2. % valine

3. % leucine

4. ¥ serine

Question Number : 168 Question Id : 2752284389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Tithd R TR GaY 3T T ST aTell ST 31 B:
Options :

1. % AEAGRA

2. % e

3. % oqdH

4. WA

Question Number : 169 Question Id : 2752284390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the CORRECT option for Lowenstein- Jensen and Loeffler's serum.

Options :

1. ¢ It is rendered sterile by heating at 80-85°C for half an hour on three successive days.
2. ® Tt is rendered sterile by heating at 60-75°C for half an hour on five successive days.
3. # It is rendered sterile by heating at 80-85°C for half an hour for 1 day.

4. ® Tt is rendered sterile by heating at 45°C for half an hour on four successive days.

Question Number : 169 Question Id : 2752284390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT -5 3R AR YR\ & fore w8t faweu &1 fafed #11

Options :

1. ¢ T AR i faA1 H o11e) ¢ & folE 80-85°C UR T R SiaTURIgd &1 faar S ]
2. % Y AGR Ui f&1 # 318 6 & o 60-75°C TR T &b STaTIRIgd &1 faam S g |
3. % 31 37 & g on®) 6 & foTw 80-85°C TR T vab SiaTURfRd &1 fear S ]

4. % TY AR IR &1 7 31 9 & forg 45°C R T b ShamuRfed a1 fear S g

Question Number : 170 Question Id : 2752284391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Candle filters are:

Options :

1. # having high absorbing capacity and tend to alkalinise filtered liquids.
2. % made of cellulose esters or other polymers.

3. ® prepared by heat-fusing finely powdered glass particles of graded sizes.

4. ¥ manufactured in different grades of porosity and have been used for purification of water for drinking purpose.

Question Number : 170 Question Id : 2752284391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fed fheex &

Options :

1. % I SINYUT & aTal 3R fheex fhT U aRa uerdf ! ey o3 &t ugfty 3@ & |

2. % I TR 7 3 UTelFR I ST 5|

3. % Jufilag PR & HId &b HalH gul & HUN B! SCA-HAA! gRT IR fordr S ]

4.« ST & fafta I8 § fAfHa ok UF & Iexa & forw ot & fead o & fore Iuant ferar man §

Question Number : 171 Question Id : 2752284392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Egg yolk reaction is related to:

Options :

1. # Christensen's urease medium

2. % Organism producing lecithinase

3. # Nessler's reagent

4. % Kovac's method

Question Number : 171 Question Id : 2752284392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
313 o1 ol arfiufpan fore Taiftra 82

Options :



1. % foedT &1 g gy

2. ¢ AR T I SRl oid
3. % TR BT AHHHD

4. ® PP HI Al

Question Number : 172 Question Id : 2752284393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is made in tubes containing agar slope and is employed for providing a pure growth of bacterium for slide agglutination.
Options :

1. ¥ Stroke culture

2. ® Streak culture

3. % Stab culture

4. ® Carpet culture

Question Number : 172 Question Id : 2752284393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig 3R A dTcll egal § S STl § 3R WSS Tel[e-=H o folg SitaTy] &1 Y& Ifa Ta™ $H=- o g Fiford fpar S g |
Options :

1. ¥ TIh HeaR

2. % Wb dHeeR

3. % LI PR

4. % HRUC DR

Question Number : 173 Question Id : 2752284394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is TRUE?
Options :

1. # Basal media contains indicator which changes colour when bacterium grows in them.



2. % In differential media, substances like blood, serum or egg are added to the basal media.

3. ¥ Complex media has added ingredients for special purposes or to bring out a particular characteristic required for growth of a particular
bacterium under study.

4. # Synthetic media consists of peptone, sodium chloride and meat extract.

Question Number : 173 Question Id : 2752284394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T HYT A 82

Options :

1. % 99 Hifear § Yohad gid & ol oiaTy &I gfg R T IGAd 5|

2. % faes Mifsar d, Yaq, TRY a1 31 oY yard avd Hifsar # Siis o g |

3. ¢ dpa Hifear & foriy Ie=al o e a1 sreoe o dgd fordd! fa=iy Siia] & faes & ot sirawges faviy fa=ivar ol I+ dF & forg
SifaRad areh gt ]

4. % RAfees Mifgar & 0o, Gfead wiREs 3R AiY 671 3 ST |

Question Number : 174 Question Id : 2752284395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It consists of a vertical, tapered and transparent tube in which a plummet is placed. During the fluid flow through the tube, the plummet rises and
falls because of variation in flow.

Options :

1. #® Pitot tube

2. ¥ Rotameter

3. # Direct Displacement Meter
4. ® Venturi Meter

Question Number : 174 Question Id : 2752284395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Seafer, Uaar 3R RGN ed gial g for WHe QT 9I1d1 § | &JE & A1 J 9 UdTg & R, a1 H fUFdl & SR @He SR
Iod1 ¢ 3R fRaT R




Options :

1. % Ut AferpT

2. ¢ eHIY

3. ® Ue [ Hiex
4. % I AR

Question Number : 175 Question Id : 2752284396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which rubber is resistant to oil and solvents?
Options :

1. # Butyl rubber

2. # Silicon rubber

3. % Polyisoprene

4. ¥ Nitrile rubber

Question Number : 175 Question Id : 2752284396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 1R 7 3R facae & forg uferieh g2
Options :

1. % SLIRA TS

2. % el e

3. % Ul

4. ¢ {3l &S

Question Number : 176 Question Id : 2752284397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which can be formed under heat and pressure. But cannot be softened or remoulded, once hardened?
Options :



1. # Thermoplastic plastics
2. ¥ Thermosetting plastics
3. # Plastic cements

4. % Flexible materials

Question Number : 176 Question Id : 2752284397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for) T SiR aTa & T o WehdT 8 | fheg Ueh IR T 811 & 916 39 =R A1 fhR STl 181 off Jahal?
Options :

1. % YIRS WRedh

2. ¢ YR Wi

3. % WIREH AT

4, % Il EEA

Question Number : 177 Question Id : 2752284398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following produces intense shearing force and turbulence by the use of high-speed rotors and the circulation of the material ensures
rapid breakdown of the dispersed liquid into smaller globules?

Options :

1. ¥ Silverson Mixer- Emulsifier

2. ® Colloid mill

3. #¥ Ultrasonic Emulsifier- Rapisonic Homogenizer

4. ® Hand homogenizer

Question Number : 177 Question Id : 2752284398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed 3 3 $1F 3= 7 a1d AeR F IUANT ¥ i 30U g SR fagiy dar Hrar § ok Il &1 Gaa uRafd Ra & s
g | el 9 g Bl g Xl o

Options :




1. ¢ e FRR- IilaR®

2. % diags U

3. % IS TR S- ITNFE SRR
4. % 1Y AN HRb (Hand homogenizer)

Question Number : 178 Question Id : 2752284399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Acharya P.C. Ray in 1901 established the
Options :

1. # Bengal Chemical and Pharmaceuticals at Calcutta

2. % Alembic Chemical Works at Baroda

3. % Bengal Chemical and Pharmaceutical Works at Calcutta
4. % A small factory at Parel (Bombay)

Question Number : 178 Question Id : 2752284399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3. E A 1901 # 1 RO B
Options :

1. % ST HHHR TS BHRGfch e, Hahdl

2. % TAfTS HHEd I, RIS

3. ¢ ST BB T08 BHRYCHE qad, Hadhl
4. % A (F3) T Bl SR

Question Number : 179 Question Id : 2752284400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a Schedule G drug?
Options :

1. ¥ Hydantoin, its salts; its derivatives and their salts.



2. % Barbituric acid, its salts and derivatives
3. ¥ Labetalol HCI
4. ® Heparin

Question Number : 179 Question Id : 2752284400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied o @ & O fRregd g garg?

Options :

1. ¥ BT SCIsH, 3% AqUT; 3YP TG 3R 3% aaul|
2. % qifdfegRe 37, 3TF T 3R TG

3. % QecTdd HCL

4. % gURA

Question Number : 180 Question Id : 2752284401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Loan licenses are issued for the manufacture for sale or distribution of drugs other than those specified in:
Options :

1. # Schedule C, G & H

2. # Schedule G & H

3. % Schedule K, W & X

4. % Schedule C, C1 & X

Question Number : 180 Question Id : 2752284401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & (fEE garsit & sramar o garsit @t ot a1 faaror & fare fmfor 3 forg w01 argda 9k fov o &
Options :

1. % feg@ c, G 3R H

2. % RRIS@ G 3R H



3. % FRISga K, W 3R X
4. ¢ RISg@ ¢, 1 3R X
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Question Number : 181 Question Id : 2752284402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Poison Act extends to whole of India but is NOT applicable to the:
Options :

1. ® State of Goa

2. ¥ State of Jammu & Kashmir

3. # Union Territories

4. ® States of Maharashtra and Punjab

Question Number : 181 Question Id : 2752284402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw srfaifrad Q¥ yRd ® @F] gran g dfee fFafafea o ey i siar g:
Options :

1. % a1y

2. ¢ S 3R HIHR I

3. % &g QMRIG UG

4. % TERTY 3R USTe Iy

Question Number : 182 Question Id : 2752284403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Provisions applicable to homeopathic medicines state that:

Options :

1. #® A license is necessary for the import of a new homeopathic medicine which is not specified in the Homeopathic Pharmacopoeia of India,
USA, UK or Japan or not recognised as efficacious.

2. # A license is necessary for the import of a new homeopathic medicine which is not specified in the Homeopathic Pharmacopoeia of India or
not recognised as efficacious.

3. ¥ A license is necessary for the import of a new homeopathic medicine which is not specified in the Homeopathic Pharmacopoeia of India,
USA, UK or Germany or not recognised as efficacious.

4. % A license is necessary for the import of a new homeopathic medicine which is not specified in the Homeopathic Pharmacopoeia Britain or
not recognised as efficacious.

Question Number : 182 Question Id : 2752284403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g garef W A e SdTd § o

Options :

|. % T T3 gIRTUR arsii & 3MaTd & o AgaY 3axTD g Sl HIRd, USA, UK IT ST & giRadt A sy 7 RSy agi g o
JHTEIdIGD & FY § H-d U el 8

2. % U 718 grnudt garai & AT & folu sdy 3axae g St HRd & gl a1 sivyeiwr & Ay 81 8 a1 uHaiares & 0 o
A=A U el B

3. ¢ T s gt gareft & Smard & folu sy AR g Sl HRd, USA, UK T STHAT & gt A= iy A RSy agi g a
JHTAITG D & U § HI-dT U el g |

4. % T T3 grU arsii & 3mard & o AgdT 3Maxaed g o gt A siivyeiwr e # Afdy =8Y & a1 yvdiaes & =u A
AT U T8l B

Question Number : 183 Question Id : 2752284404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a QSAR Method?
Options :

1. # Free energy Models

2. ¥ Shake-flask Method

3. # Topological Methods

4. % Molecular modelling

Question Number : 183 Question Id : 2752284404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied § 9 ®F T FUITR (QSAR) fafer 8t g2
Options :

1. % TR Sl Hisd

2. ¢ Qb-URD fafe

3. % Uit fafd

4. % JUTfAD HISTAT




Question Number : 184 Question Id : 2752284405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of iron poisoning:

Options :

1. # Vitamin can effectively treat systemic iron toxicity.

2. # Edetate calcium disodium can effectively treat systemic iron toxicity.
3. # Sodium thiosulphate can effectively treat the systemic iron toxicity.

4. ¥ Deferoxamine can effectively treat systemic iron toxicity.

Question Number : 184 Question Id : 2752284405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRA fauTadar & AFd #:

Options :

1. % f3erfim guTd U § yunaiTd TR fasTeddr &7 SU=R &R Jobdl |

2. % gfgee Hicg feafesad uurdt U T YuneaiTd 3R+ fAuTeddr &1 SUaR R Jobdl g |
3. % TIfSTH YAt e YUITETd TR fATaddr T UHTE &1 d SUDIR R Jhdl g

N

4. ¢ TSRS TUNTT SR faSTaddT T THTE! &7 T SUAR B Jhdl g |

Question Number : 185 Question Id : 2752284406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yellow pigmentation of the skin and yellow colour of urine appears during the treatment with:
Options :

1. # Sulphonamide

2. % Pamaquine

3. ¥ Quinacrine

4. ® Pyrimethamine



Question Number : 185 Question Id : 2752284406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[P Y IUIR & SR @l o1 Yt quies 3R T &1 diar 37 faarg Sar g2
Options :

1. % GhHAES

2. % g

3. ¢ P

4. % OISR

Question Number : 186 Question Id : 2752284407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of lead toxicity which one is NOT recommended?
Options :

1. ¥ Deferoxamine

2. # Edetate calcium disodium

3. % Dimercaprol

4. ¥ D-penicillialmine

Question Number : 186 Question Id : 2752284407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fauraaar &1 Rufa & feaet Riw e 98 &1 St 52
Options :

1. ¢ TEBRIeIHIS

2. % Ufgee Hicmy fedifsan

3. % SRAGU

4. % SrofRferaeHTe

Question Number : 187 Question Id : 2752284408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which is NOT the aspect to be considered while stability testing?
Options :

1. # Justification of package type chosen

2. # Product-container compatibility studies

3. % Bio-compatibility

4. ¥ Drug-Drug interaction

Question Number : 187 Question Id : 2752284408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRRAT Tterr Ha IHd ford ueq R faeR 8} forar S 82
Options :

1. % g4 TN Uhol UHR &1 i

2. % JAIG-HCR HICAdT ST

3. % Sg-3JHadl

4. Y-Sy sia:forar

Question Number : 188 Question Id : 2752284409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The whole world is divided into four climatic zones in order to harmonize and simplify stability testing. Korea and Nepal comes under which
climatic zone?

Options :

1. # Climatic Zone I
2. ¥ Climatic Zone II
3. # Climatic Zone III
4. #* Climatic Zone IV

Question Number : 188 Question Id : 2752284409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Ay &7 1

2. ¥ S[AaR] &4 11

3. % S[qarg &4 111

4. % ARy &7 IV

Question Number : 189 Question Id : 2752284410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Establishment of documented evidence during implementation of the system deals with:
Options :

1. ¥ Concurrent Validation

2. # Prospective Validation

3. ¥ Revalidation

4. # Retrospective Validation

Question Number : 189 Question Id : 2752284410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TuTTelt % HrAf-ae % SR Tofad Wed &1 R o & Taifird 82
Options :

1. ¢ GHIA AT

2. % Jyifad (Urdfaca) I

3. % QAdeREHRuT

4. % goHTd! qTa

Question Number : 190 Question Id : 2752284411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



There are mainly three parts of Bioavailability study submission (i.e., protocol, data and results). Which element is NOT the part of Protocol?
Options :

1. ¥ Case reports

2. # Study objectives

3. % Ethical consideration

4. % Study design

Question Number : 190 Question Id : 2752284411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ &g e
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3. % Afde foar

4. % YT GIIT

Question Number : 191 Question Id : 2752284412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is unable to degrade starch and dextrine, since it does NOT produce starch-decomposing enzymes?
Options :

1. # Actinoplanes spec.

2. # Streptomyces spec.

3. % Saccharomyces spinosa

4. ¥ Saccharomyces cerevisiae

Question Number : 191 Question Id : 2752284412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % Ufgee=g W |
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3. % YHHRAY frn
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Question Number : 192 Question Id : 2752284413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Correct pair in terms of similar application is:
Options :

1. ¥ S.lavendulae; S. tendae

2. ¥ S. noursei; S. natalensis

3. # S. hygroscopicus; S lincolnensis

4. # S. lincolnensis; S. natalensis

Question Number : 192 Question Id : 2752284413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TY. qdgd; TU. d<

2. ¢ 7Y T, T, FereiRiE

3. % U9, BIg e IUehy; T, iR
4. % 7. fipHRM; T, iR

Question Number : 193 Question Id : 2752284414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which order of the soil bacteria are the most important producers of bioactive metabolites like antibiotic, antitumor agents, immunosuppressants,
antiparasitic agents, herbicides and enzyme-inhibiting agents ?

Options :



1. # Agrobacterium
2. ¥ Actinomycetes
3. % Acetobacter
4. ¥ Azotobacter

Question Number : 193 Question Id : 2752284414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TeaeIRad

2. ¢ TRFMSHC™

3. % THieddRR

4. % TSllCIode]

Question Number : 194 Question Id : 2752284415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the INCORRECT group based on chemical classification.
Options :

1. # Peppermint, Clove, Eucalyptus, Garlic

2. # Digitalis, Senna, Cascara, Liquorice

3. % Digitalis, Ergot, Clove, Cascara

4. ¥ Nux vomica, Ergot, Cinchona, Datura

Question Number : 194 Question Id : 2752284415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. # fUmRffe, a1, ARy, e
2. % feforefer, I, HrRex, adAyY
3. ¢ fSfSrefer, wife, o, s
4. % Pioa, Wite, AT, Uq®T

Question Number : 195 Question Id : 2752284416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the actual range of vein-islet number for Datura stramonium?
Options :

1. % 20to 28

2.% 12t0 16

3. % 16t0 24

4. % 6t08

Question Number : 195 Question Id : 2752284416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2.¢ 129 16

3. % 16924

4.% 698

Question Number : 196 Question Id : 2752284417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For G. glabra, which falls under CORRECT varity description?
Options :

1. # G. glabra var. typica, called persian liquorice has bright root stock.



2. # G. glabra var. violacea, called spanish liquorice has violet flowers.
3. % G. glabra var. glandulifera, called Russian liquorice has purplish flower.

4. ¥ G. glabra var. typica, called Spanish liquorice has purplish blue coloured flowers.

Question Number : 196 Question Id : 2752284417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 197 Question Id : 2752284418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
process involves grinding of drugs in a ball mill for time long enough to affect spontaneous accumulation.
Options :
1. ¥ Agglomerative phase of Comminution
2. # Agglomerating phase of Comminution
3. # Agglomerating phase of Comminuting

4. ® Agglomeration phase of Comminution

Question Number : 197 Question Id : 2752284418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 198 Question Id : 2752284419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The drug with greater affinity for AAG than for HAS is:
Options :

1. ¥ Digoxine

2. % Jophenoxic acid

3. # Metformine

4. ¥ Lidocaine

Question Number : 198 Question Id : 2752284419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HSA &1 AT H AAG & forg 31 srafiadr areh gar gl
Options :
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3. % HewifA

4. ¢ ISt

Question Number : 199 Question Id : 2752284420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two rate determining steps in the absorption of drugs from orally administered formulations are:
Options :

1. # disintegration and permeation across the biomembrane

2. ¥ dissolution and permeation across the biomembrane

3. % dissolution and disintegration



4. # disintegration and disaggregation

Question Number : 199 Question Id : 2752284420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T J T=IRYd BHARE I garsit & @iy # g &R Rk sen €, 3 g
Options :

1. % Safereat # faeed ofR URTHA (HTRM)

2. ¢ Safgreh ¥ faued (EHiaRM) SR uRH (UHuRH)

3. % faued (EaiaRm) SR fawer (Sugfedrm)

4. % fowde (Feusfednm) 3R guamur (fSauiiRm)

Question Number : 200 Question Id : 2752284421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vesicular transport is the other name for:
Options :

1. ¥ endocytosis

2. ® exocytosis

3. % jon-pair transport

4. ® pore transport

Question Number : 200 Question Id : 2752284421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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